
  

S–4561   

B.Com. DEGREE EXAMINATION, NOVEMBER 2024 

First Semester 

Commerce  

FINANCIAL ACCOUNTING – I 

(CBCS – 2023 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is journal? 

 SÔ¨÷£k GßÓõÀ GßÚ? 

2. What is double entry system? 

 Cμmøh £vÄ •øÓ GßÓõÀ GßÚ? 

3. What is the term “Final Accounts”? 

 “CÖv PnUSPÒ” GßÓõÀ GßÚ? 

4. What is meant by Gross profit? 

 ö©õzu »õ£® GßÓõÀ GßÚ? 

5. What is meant by depreciation?  

 ÷u´©õÚ® GßÓõÀ GßÚ? 

6. What is bill of exchange? 

 £›©õØÓ ©÷\õuõ GßÓõÀ GßÚ? 
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7. What is meant by incomplete records?  
 •Êø©¯ØÓ £vÄPÒ GßÓõÀ GßÚ? 

8. Define “Single entry”. 
 “JØøÓ £vÄ” Gß£øu Áøμ¯Ö. 

9. What is Royalty? 
 μõ¯Ài GßÓõÀ GßÚ? 

10. What do you understand by sub-lease? 
 xøn SzuøP ‰»® }[PÒ GßÚ ¦›¢xöPõÒQÕºPÒ? 

 Part B  (5 × 5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) Enter the following transactions in the books of 
Thiru. Ganesan, 

   1.1.2007 Started business with Rs. 25,000. 
   2.1.2007 Deposited into Bank for Rs. 23,500. 
   3.1.2007 Purchased furniture by issuing cheque 

Rs. 2,000. 
   4.1.2007 Cash Purchases Rs. 3.000. 
   5.1.2007 Sold goods to Ramu Rs.150. 
   6.1.2007 Goods worth Rs. 250 taken from the shop 

for personal use. 
   v¸. P÷n\ß, ¦zuP[PÎÀ ¤ßÁ¸® 

£›ÁºzuøÚPøÍ EÒÎhÄ®. 
  1.1.2007 ¹.2,000 Ehß öuõÈÀ öuõh[P¨£mhx 

¹.25,000 
   2.1.2007 Á[Q°À öh£õ]m ö\´¯¨£mh 

¹.23,500 
   3.1.2007 Põ÷\õø» ÁÇ[Q, ©μa\õ©õßPÒ 

Áõ[P¨£mhx ¹.2,000 
   4.1.2007 öμõUP öPõÒ•uÀ ¹.3,000 
   5.1.2007 μõ•ÄUS ö£õ¸mPøÍ ÂØÓx ¹.150 
   6.1.2007 ©v¨¦ÒÍ ö£õ¸mPÒ ¹.250 uÛ¨£mh 

E£÷¯õPzvØPõP Pøh°À C¸¢x 
GkUP¨£mhx. 

Or 
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 (b) Enter the following transaction in the Purchase 
book. 

May 1 
2009 

Purchased from Kavitha Shoe Mart, Chennai.
100 Shoes @ Rs.300 each. 
50 Belts @ Rs. 75 each. 
Packing and delivery charges Rs. 200. 
Trade discount 10%. 

10 Purchased from S.K. Shoe Mart, Mumbai. 
50 Cut shoes @ Rs.100 each 
25 Leather Shoes @ Rs.500 each. 
Delivery and cartage Rs.150. 

   öPõÒ•uÀ ¦zuPzvÀ ¤ßÁ¸® £›ÁºzuøÚø¯ 
EÒÎhÄ®. 

÷©  
1  
2009 

ö\ßøÚ PÂuõ åý ©õºmiÀ Áõ[P¨£mhx. 

100 Põ»oPÒ @ ¹.300 

50 ö£ÀmPÒ @ JÆöÁõßÖ® ¹.75 
÷£UQ[ ©ØÖ® öh¼Á› Pmhn® ¹.200 
ÁºzuP uÒÐ£i 10% 

10 Gì.÷P.°h® C¸¢x Áõ[P¨£mhx, åý ©õºm, •®ø£ 

50 Pm åýUPÒ @ JÆöÁõßÖ® ¹.100 

25 ÷uõÀ Põ»oPÒ @ u»õ ¹.500 
öh¼Á› ©ØÖ® Põº÷hä ¹.150 

12. (a) Prepare Trading a/c of Mr. Ram for the year ending 
31st March 2008. 

 Rs.
Stock of goods on 1.4.2007 25,000
Stock of goods on 31.3.2008 47,500
Purchases  Cash 37,000
 Credit 82,500
Sales Cash 51,000
 Credit 1,15,000
Returns to suppliers 2,500
Returns to Customers 2,000
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   ©õºa 31, 2008 CÀ •iÁøh²® BsiØPõÚ 
v¸.μõªß ÁºzuPzøu u¯õº ö\´¯Ä®. 

 ¹.

1.4.2007 AßÖ ö£õ¸mPÎß C¸¨¦ 25,000

31.3.2008 AßÖ ö£õ¸mPÎß C¸¨¦ 47,500

öPõÒ•uÀ  £n©õP  37,000

 Phß 82,500

ÂØ£øÚ¨  £n®  51,000

 Phß 1,15,000

\¨øÍ¯ºPÐUS v¸®£ 2,500

ÁõiUøP¯õÍºPÐUS v¸®£ 2,000

Or 

 (b) From the following information, Prepare Profit and 
loss account for the year ended 31st March 2018. 

 Rs.

Gross profit b/d 1,50,000

Advertisement expenses 3,800

Carriage inward 25,500

Bad debts 8,500

Office rent 7,000

Dividend received 9,000

Office stationery 3,500

Distribution expenses 2,000

Discount received 4,600

Rent received 7,000
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   ¤ßÁ¸® uPÁ¼¼¸¢x, ©õºa 31, 2018 CÀ 
•iÁøh¢u BsiØPõÚ »õ£® ©ØÖ® |èhU 
PnUøPz u¯õ›UPÄ®. 

 ¹.

ö©õzu »õ£® b/d 1,50,000

ÂÍ®£μ ö\»ÄPÒ  3,800

Ási EÒ÷|õUQ 25,500

ÁõμõU PhßPÒ 8,500

A¾Á»P ÁõhøP 7,000

iÂöhsm Qøhzux 9,000

A¾Á»P GÊxö£õ¸mPÒ  3,500

Â{÷¯õP ö\»Ä 2,000

uÒÐ£i ö£Ó¨£mhx 4,600

ÁõhøP Qøhzux 7,000

13. (a) What are the factors to be considered while 
determining the amount of depreciation?  

   ÷u´©õÚzvß AÍøÁ {ºn°US®÷£õx P¸zvÀ 
öPõÒÍ ÷Ási¯ PõμoPÒ GßÚ? 

Or 

 (b) Ramchand draws a bill for Rs. 2000 on Gopal on 
15th September for three months. On maturity, 
Gopal failed to honour the bill. Pass necessary 
journal entry in the books of Ramchand and Gopal, 
if he had retained the bill with him till maturity. 

μõ®\¢z ‰ßÖ ©õu[PÐUS ö\¨h®£º 15 AßÖ 
÷Põ£õÀ «x ¹.2,000. •vºa]¯øh¢u {ø»°À, 
÷Põ£õÀ ©÷\õuõøÁ ©vUPz uÁÔÂmhõº. μõ®\¢z 
©ØÖ® ÷Põ£õÀ •vºa] Aøh²® Áøμ ¤Àø» 
øÁzv¸¢uõÀ, AÁºPÎß ¦zuP[PÎÀ ÷uøÁ¯õÚ 
SÔ¨÷£k £vøÁ AÝ¨£Ä®. 
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14. (a) Describe the limitations of single entry system. 

   JØøÓ £vÄ •øÓ°ß Áμ®¦PøÍ ÂÁ›. 

Or 

 (b) Find out profit from the following data: 
 Rs.

Capital at the beginning of the year 8,00,000

Drawings during the year 1,80,000

Capital at the end of the year 9,50,000

Capital introduced during the year 50,000

  ¤ßÁ¸® uμÄPÎ¼¸¢x »õ£zøuU PshÔ¯Ä®: 

    
 ¹.

Bsiß öuõhUPzvÀ ‰»uÚ®  8,00,000

Á¸hzvÀ Áøμ¢u KÂ¯[PÒ 1,80,000

Bsiß CÖv°À ‰»uÚ® 9,50,000

BsiÀ ‰»uÚ® AÔ•P¨£kzu¨£mhx 50,000

15. (a) Following are the balances of Nataraj as on  
31st December 2018. 

 Rs. 
Bills receivable 6,000 
Bills payable 4,000 
Sundry creditors 25,000 
Stock 45,000 
Machinery 60,000 
Debtors 70,000 
Furniture 10,000 
Cash 4,000 

        Prepare a statement of affairs as on 31st December 
2018 and calculate capital as at that date. 



S–4561 

  

  7

31 i\®£º 2018 {»Áμ¨£i |hμõâß {¾øÁPÒ 
¤ßÁ¸©õÖ. 

 ¹.

ÁμUTi¯ ¤ÀPÒ  6,000

ö\¾zu ÷Ási¯ ¤ÀPÒ  4,000

£Ø£» PhÚõÎPÒ 25,000

\μUS 45,000

C¯¢vμ[PÒ 60,000

PhÚõÎPÒ 70,000

©μa\õ©õßPÒ 10,000

öμõUP® 4,000

i\®£º 31, 2018 AßÖ J¸ AÔUøPø¯z u¯õ›zx, 
A¢uz ÷uv°À ‰»uÚzøuU PnUQk[PÒ. 

Or 

 (b) Calculate insurance claim from the following facts 
assuming that the insurers met their liability under 
the policy on “average basis”. 

   A trader’s stock valued at Rs.40,000 was totally 
destroyed. The stock in the godown was insured for 
Rs.30, 000 subject to average clause. The balance of 
stock, left after fire, appeared in the books at 
Rs.24,000. 

“\μõ\› Ai¨£øh°À” £õ¼]°ß RÌ 
Põ¨¥mhõÍºPÒ u[PÒ ö£õÖ¨ø£ §ºzv ö\´uuõPU 
P¸v ¤ßÁ¸® Esø©PÎ¼¸¢x Põ¨¥mk 
÷Põ›UøPø¯ PnUQk[PÒ. 

J¸ Â¯õ£õ›°ß 40,000 ¹£õ´ ©v¨¦ÒÍ £[SPÒ 
•ØÔ¾® ÷\u©øh¢uÚ. S÷hõÛÀ EÒÍ £[S 
\μõ\› ÂvUS Em£mk ¹.30,000US Põ¨¥k 
ö\´¯¨£mhx. wUS¨ ¤ÓS «u•ÒÍ C¸¨¦, 
¦zuP[PÎÀ ¹.24,000 BP C¸¢ux. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Prepare a three column cash book from the following 
information. 

2009 
May 1  

Balance of cash in hand Rs. 8,000 and at Bank 
Rs. 5,000 

4 Bought goods for cash Rs. 1,800 and for cheque 
Rs. 2,500. 

6 Drew cash from Bank for office use Rs. 3,000. 
12 Paid salaries by cheque Rs. 1,500. 
16 Paid to Kumar Rs. 2,000 by cheque 
18 Sold goods for cash Rs. 6,000. 
22 Paid into Bank Rs. 4,500. 
25 Paid Rent Rs. 500 in cash. 
28 Paid Ram Rs. 1,700 is full settlement of his 

account for Rs. 1,750. 
30 Received from Balu’s cheque of Rs. 900 and 

allowed him discount Rs. 50. 

 ¤ßÁ¸® uPÁ¼¼¸¢x ‰ßÖ ö|kÁ›ø\ £n¨ 
¦zuPzøuz u¯õ›UPÄ®. 
2009 
÷© 1  

øP°À £n C¸¨¦ ¹.8,000 ©ØÖ® Á[Q°À 
¹.5,000 

4 öμõUP©õP Áõ[Q¯ ö£õ¸mPÒ ¹.1,800 ©ØÖ® 
Põ÷\õø»US ¹.2,500 

6 A¾Á»P E£÷¯õPzvØPõP Á[Q°À C¸¢x 
Gkzu öμõUP® ¹.3,000 

12 Põ÷\õø» ‰»® \®£Í® ¹.1,500 

16 S©õ¸US Põ÷\õø» ‰»® ¹.2,000 

18 ÂØP¨£mh ö£õ¸mPÒ öμõUP©õP ¹.6,000 

22 Á[Q°À ö\¾zu¨£mhx ¹.4,500 

25 ö\¾zv¯ ÁõhøP ¹.500 öμõUP©õP  

28 £n® ö\¾zv¯ μõ® ¹.1,700 AÁμx PnUQß 
•Ê ö\miÀö©ßm ¹.1,750 

30 £õ¾Âß Põ÷\õø»°À C¸¢x ¹.900 ©ØÖ® 
AÁ¸US uÒÐ£i ¹.50 
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17. From the following information, determine the amount to 
be debited to Income and Expenditure account and the 
amount to be shown on the Balance Sheets. 

 Rs.

Stock of Stationery on 1.4.2005 250

Stock on Stationery on 3.3.2006 100

Purchase of stationery during the year 2005-06 2,800

Stationery bill outstanding for 1.4.2005 120

Stationery bill outstanding for 31.3.2006 200

Stationery paid in advance on 31.3.2005 140

Stationery paid in advance on 31.3.2006 180

 ¤ßÁ¸® uPÁ¼À C¸¢x, Á¸©õÚ® ©ØÖ® ö\»ÂÚ® 
PnUSUS öh¤m ö\´¯¨£h ÷Ási¯ öuõøP ©ØÖ® 
C¸¨¦{ø»U SÔ¨¤À Põmh¨£k® öuõøP BQ¯ÁØøÓz 
wº©õÛUPÄ®. 

 ¹.

1.4.2005 AßÖ GÊxö£õ¸mPÎß C¸¨¦  250

3.3.2006 AßÖ ì÷håÚ› «x \μUS 100

2005&06 CÀ GÊxö£õ¸mPÒ öPõÒ•uÀ  2,800

1.4.2005CÀ {¾øÁ°À EÒÍ GÊxö£õ¸Ò ¤À  120

31.3.2006UPõÚ ì÷håÚ› ¤À {¾øÁ°À 
EÒÍx  

200

GÊxö£õ¸mPÒ 31.3.2005 AßÖ •ßTmi÷¯ 
ö\¾zu¨£mhx 

140

GÊxö£õ¸mPÒ 31.3.2006 AßÖ •ßTmi÷¯ 
ö\¾zu¨£mhx 

180
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18. A machinery was purchased for Rs. 17,000 on 1.10.2006. 

Installation expenses incurred Rs.3,000. Accounts were 

closed on 31st March and depreciation charged at 10% on 

written down value method. On 31.3.2009, it was sold for 

Rs. 10,000. Prepare machinery account for all the years. 

 J¸ C¯¢vμ® 1.10.2006 AßÖ ¹.17,000. {ÖÁÀ 
ö\»ÄPÒ ¹.3,000. PnUSPÒ ©õºa 31 AßÖ ‰h¨£mhÚ 

©ØÖ® GÊu¨£mh ©v¨¦ •øÓ°À 10% ÷u´©õÚ® 
Á`¼UP¨£mhx. 31.3.2009 AßÖ Cx ¹.10,000. 
AøÚzx BskPÐUPõÚ C¯¢vμ PnUøP u¯õº 
ö\´¯Ä®. 

19. Ramesh keeps his books on single entry basis. Prepare a 

statement of affairs as on 31.10.1982 and a statement of 

profit (or) loss for the period ending 31.10.1982. 

Assets and Liabilities  1.11.81 

Rs. 

31.10.82 

Rs. 

Bank balance 560(Cr) 350(Dr)

Cash on hand 10 50

Debtors 4,500 3,600

Stock 2,700 2,500

Plant 4,000 4,000

Furniture  1,000 1,000

 Ramesh had withdrawn Rs.2,000 during the year and 

had introduced fresh capital of Rs.4,200 on 1.7.1982.  

A provision of 5% on debtors is necessary. Write off 

depreciation on plant at 10% and furniture at 15%. 

Interest on capital is to be allowed at 5%. 
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 μ÷©è uÚx ¦zuP[PøÍ JØøÓ £vÄ Ai¨£øh°À 
øÁzv¸UQÓõº. 31.10.1982 Cß ÂÁPõμ AÔUøP ©ØÖ® 
31.10.1982 CÀ •iÁøh¢u Põ»zvØPõÚ C»õ£ (AÀ»x) 
CÇ¨¦ AÔUøPø¯z u¯õ›UPÄ®. 

ö\õzxUPÒ ©ØÖ® 
ö£õÖ¨¦PÒ 

1.11.81 
¹. 

31.10.82 
¹. 

Á[Q C¸¨¦ 560(Cr) 350(Dr)

øP°À £n® 10 50

PhÚõÎPÒ 4,500 3,600

\μUS 2,700 2,500

Bø»  4,000 4,000

©μa\õ©õßPÒ 1,000 1,000

 μ÷©è ¹.2,000 BsiÀ ¦v¯ ‰»uÚzøu 
AÔ•P¨£kzv¯x. 1.7.1982 AßÖ ¹.4,200. 
PhÚõÎPÐUS 5% JxURk AÁ]¯®. Bø» «uõÚ 
÷u´©õÚzøu 10% ©ØÖ® ©μa\õ©õßPÒ 15% GÚ 
GÊx[PÒ. ‰»uÚzvß «uõÚ Ámi 5% AÝ©vUP¨£k®. 

20. A fire occurred in the premises of X ltd. on 10.10.91. All 
stocks were destroyed except to the extend of Rs. 6,200. 
From the following figures, ascertain the loss of stock 
suffered by the company: 

 Rs.

Stock on 1.1.90 40,000

Purchase during 1990 1,45,000

Sales during 1990 2,00,000

Stock on 31.12.90 25,000

Purchase during 1991 upto the date of fire 1,52,000

Sales during 1991 upto date of fire 1,89,000
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 GUì ¼ªöhm ÁÍõPzvÀ w Â£zx HØ£mhx. 10.10.91 
AßÖ ¹.6,200 }miUP¨£mhøuz uÂμ AøÚzxa 
\μUSPÐ® AÈUP¨£mhÚ. ¤ßÁ¸® 
¦ÒÎÂÁμ[PÎ¼¸¢x, {ÖÁÚzuõÀ HØ£mh  \μUS 
CÇ¨ø£U PshÔ¯Ä®. 

 ¹.

\μUS 1.1.90 40,000

1990 CÀ, öPõÒ•uÀ ö\´ux 1,45,000

1990 CÀ ÂØ£øÚ  2,00,000

31.12.90 \μUS 25,000

1991 B® Bsk w Â£zx Áøμ Áõ[Q¯x 1,52,000

1991 B® Bsk w Â£zx Áøμ 
ÂØ£øÚ¯õÚx 

1,89,000

  

  
———————— 
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B.Com. DEGREE EXAMINATION, NOVEMBER 2024 

First Semester 

Commerce 

PRINCIPLES OF MANAGEMENT 

(CBCS – 2023 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is Scientific Management? 

 AÔÂ¯À ÷©»õsø© GßÓõÀ GßÚ? 

2. Define Administration. 

 {ºÁõPzøu Áøμ¯Ö. 

3. Define MBO in planning. 

 vmhªh¼À MBO I Áøμ¯Ö. 

4. What do you mean by a strategy? 

 Ezv GßÓõÀ GßÚ? 

5. What is span of control? 

 Pmk¨£õmk CøhöÁÎ GßÚ? 

6. What is line authority? 

 Á›ø\ AvPõμ® GßÓõÀ GßÚ? 

Sub. Code 
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7. What is staff authority? 

 £o¯õÍº AvPõμ® GßÓõÀ GßÚ? 

8. What is job analysis? 

 ÷Áø» £S¨£õ´Ä GßÓõÀ GßÚ? 

9. Define leadership. 

 uø»ø©ø¯ Áøμ¯Ö. 

10. State the advantages of democratic leadership. 

 áÚ|õ¯P uø»ø©°ß |ßø©PøÍ TÖP. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Describe about the evolution  of management 
thought. 

  ÷©»õsø© ]¢uøÚ°ß £›nõ© ÁÍºa] £ØÔ 
ÂÁ›. 

Or 

 (b) Describe the relative importance of each type of 
skills to lower, middle and upper level managers. 

  RÌ, |kzuμ ©ØÖ® ÷©À{ø» ÷©»õÍºPÐUS 
JÆöÁõ¸ ÁøP¯õÚ vÓßPÎß J¨¥mk 
•UQ¯zxÁzøu ÂÁ›. 

12. (a) What are different types of plans? Explain. 

  £À÷ÁÖ ÁøP¯õÚ vmh[PÒ GßÚ? ÂÍUSP. 

Or 

 (b) Explain the various forecasting techniques used for 
decision making process. 

  •iöÁkUS® ö\¯À•øÓUS £¯ß£kzu¨£k® 
£À÷ÁÖ •ßPo¨¦ ~m£[PøÍ ÂÍUSP. 
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13. (a) What do you understand by organization chart? 

  {ÖÁÚ ÂÍUP¨£h® ‰»® }[PÒ GßÚ 
¦›¢xöPõÒQÕºPÒ? 

Or 

 (b) Distinguish between formal and informal 
organization. 

  •øÓ¯õÚ ©ØÖ® •øÓ\õμõ Aø©¨¦PøÍ 
÷ÁÖ£kzxP. 

14. (a) What are the features of performance appraisal? 

  ö\¯ÀvÓß ©v¨¥miß A®\[PÒ GßÚ? 

Or 

 (b) Explain the methods of performance appraisal. 

  ö\¯ÀvÓß ©v¨¥miß •øÓPøÍ ÂÍUSP. 

15.  (a) Explain the steps in Controlling. 

  Pmk¨£õmiÀ EÒÍ £iPøÍ ÂÍUSP. 

Or 

 (b) Why controlling is essential? 

  Pmk¨£kzxÁx Hß AÁ]¯®? 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain Henri Fayol’s 14 principles of management. 

 öíßÔ L£÷¯õ¼ß {ºÁõPzvß 14 öPõÒøPPøÍ 
ÂÍUSP. 

17. What is planning? Explain the steps involved in 
planning. 

 vmhªhÀ GßÓõÀ GßÚ? vmhªh¼À EÒÍ £iPøÍ 
ÂÍUSP. 



S–4562 

  

  4

18. What are the disadvantages of Decentralization of 
authority? 

 AvPõμ¨ £μÁ»õUPzvß wø©PÒ GßÚ? 

19. Write Short notes On: 

 (a) Work from Home 

 (b) Managing work from Home 

 ]Ö SÔ¨¦PøÍ GÊuÄ®: 

 (A) ÃmiÀ C¸¢x ÷Áø» 

 (B) ÃmiÀ C¸¢x ÷Áø»ø¯ {ºÁQzuÀ 

20. What do you understand by “leadership style”? Describe 
the different styles of leadership. 

 “uø»ø© £õo” Gß£uß ‰»® }[PÒ GßÚ 
¦›¢xöPõÒQÕºPÒ? uø»ø©zxÁzvß £À÷ÁÖ 

£õoPøÍ ÂÁ›. 

———————— 
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B.Com. DEGREE EXAMINATION, NOVEMBER 2024 

Commerce 

Allied – PROGRAMMING IN C AND LAB 

(CBCS – 2023 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. List the benefits of C. 

 C Cß |ßø©PøÍ £mi¯¼k[PÒ. 

2. What is Preprocessor in C? 

 C CÀ Preprocessor GßÓõÀ GßÚ? 

3. Define Variables. 

 Variables & ø¯ Áøμ¯ÖUPÄ®. 

4. List the types of Operators. 

 B£÷μmhºPÎß ÁøPPøÍ £mi¯¼k[PÒ. 

5. Write the syntax of IF_ ELSE statement. 

 IF_ELSE AÔUøP°ß öuõh›¯À GÊuÄ®. 

6. Define Array. 

 Array ø¯ Áøμ¯ÖUPÄ®. 

Sub. Code 
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7. Write the syntax of Multidimensional Array. 

 Multidimensional Array °ß Syntax GÊuÄ®. 

8. What is Function Prototype? 

 Function •ß©õv› GßÓõÀ GßÚ? 

9. Illustrate structure of C. 

 C Cß Pmhø©¨ø£ ÂÍUPÄ®. 

10. What is ENUM? 

 ENUM GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Write the features of C Language. 

  C ö©õÈ°ß A®\[PøÍ GÊuÄ®. 

Or 

 (b) What are the preprocessor directives available in C? 

  C CÀ EÒÍ Pre-processor Directives ÁÈ•øÓPÒ 
GßÚ? 

12. (a) What are the Data Types available in C? Explain 

  C CÀ EÒÍ uμÄ ÁøPPÒ (Data Types) ¯õøÁ? 
ÂÍUSP. 

Or 

 (b) Write a note on scope rules in C. 

  C CÀ ÷|õUP® ÂvPÒ £ØÔ¯ SÔ¨ø£ GÊuÄ®. 
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13. (a) Write a note on Decision statement with example. 

  Euõμnzxhß Decision Statement SÔ¨ø£ 

GÊuÄ®. 

Or 

 (b) Illustrate strings in C. 

  C CÀ Strings ø¯ ÂÍUPÄ®. 

14. (a) Write short notes on passing an argument by  

Value in C. 

  C CÀ Value ‰»® J¸ Argument AÝ¨¦Áx SÔzu 

]Ö SÔ¨¦PøÍ GÊuÄ®. 

Or 

 (b) How does Recursion works in C? Explain with 

example. 

  C CÀ Recursion GÆÁõÖ ö\¯À£kQÓx? 

Euõμnzxhß ÂÍUPÄ®. 

15.  (a) Discuss about pointers in C with suitable program. 

  ö£õ¸zu©õÚ {μ¾hß C CÀ EÒÍ Pointers £ØÔ 

ÂÁõvUPÄ®. 

Or 

 (b) How to process a structure in C? Explain. 

  C CÀ J¸ Structure GÆÁõÖ ö\¯»õUSÁx? 

ÂÍUSP. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Write the step by step procedure for compilation of C 

program. 

 C Program Compilation £i¨£i¯õÚ ö\¯À•øÓø¯ 

GÊuÄ®. 

17. Describe about Operators and its types in C with 

example. 

 B£÷μmhºPÒ ©ØÖ® Auß ÁøPPøÍ C CÀ 

Euõμnzxhß ÂÁ›UPÄ®. 

18. Illustrate Control structure with suitable program. 

 Control Structure £ØÔ ö£õ¸zu©õÚ Program ø¯ 

ÂÍUPÄ®. 

19. Explain in detail about storage classes in C. 

 C CÀ Storage Classes £ØÔ Â›ÁõP ÂÍUPÄ®. 

20. Write a program to display student mark list using 

structure in C. 

 C CÀ Structure £¯ß£kzv ©õnÁº ©v¨ö£s 

£mi¯ø»U Põs¤UP J¸ Program GÊuÄ®. 

———————— 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define economics in the word of Marshall. 

 ©õºå¼ß ÁõºzøuPÎÀ ö£õ¸Íõuõμzøu Áøμ¯ÖUP. 

2. Explain Robbins definition of economics. 

 μõ¤ßì ö£õ¸Íõuõμzvß Áøμ¯øÓø¯ ÂÍUPÄ®. 

3. Define Demand. 

 ÷uøÁø¯ Áøμ¯ÖUPÄ®. 

4. What is Price Elasticity? 

 Âø» ö|QÌa] GßÓõÀ GßÚ? 

5. What is utility? 

 £¯ß£õk GßÓõÀ GßÚ? 

6. What are the types of utility? 

 £¯ß£õmiß ÁøPPÒ ¯õøÁ? 

7. What is production? 

 EØ£zv GßÓõÀ GßÚ? 
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8. What are the measures of productivity? 
 EØ£zv°ß AÍÄ÷PõÀPÒ GßÚ? 

9. What is Market structure? 
 \¢øu Aø©¨¦ GßÓõÀ GßÚ? 

10. What is Monopoly? 
 •ØÖ›ø© GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the scope of Business economics. 
  ÁoP¨ ö£õ¸Íõuõμzvß ÷|õUPzøu ÂÍUSP. 

Or 

 (b) Enumerate the roles and responsibilities of 
Business Economist. 

  ÁoP¨ ö£õ¸Íõuõμ ÁÀ¾|›ß £õzvμ[PÒ ©ØÖ® 
ö£õÖ¨¦PøÍ £mi¯¼kP. 

12. (a) Explain the need for studying demand analysis. 
  ÷uøÁ £S¨£õ´Ä £i¨£uß AÁ]¯zøu ÂÍUSP. 

Or 

 (b) Explain the reasons for downward sloping of the 
Demand Curve. 

  ÷uøÁ ÁøÍÄ RÌ÷|õUQ \õ´ÁuØPõÚ Põμn[PøÍ 
ÂÍUSP. 

13. (a) Explain the various forms of utility. 
  £¯ß£õmiß £À÷ÁÖ ÁiÁ[PøÍ ÂÍUSP. 

Or 

 (b) What are the characteristics features of utility? 
  £¯ß£õmiß ]Ó¨¤¯À¦ A®\[PÒ GßÚ? 
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14. (a) Explain factors of production. 

  EØ£zv PõμoPøÍ ÂÍUSP. 

Or 

 (b) What are the assumptions of the Law of Variable 
Proportions? 

  ©õÔ ÂQuõa\õμzvß Âv°ß AÝ©õÚ[PÒ GßÚ? 

15.  (a) What are the characteristics of perfect market 
structure? 

  \›¯õÚ \¢øu Pmhø©¨¤ß £s¦PÒ GßÚ? 

Or 

 (b) What are the features of monopoly market? 

  •ØÖ›ø© \¢øu°ß A®\[PÒ GßÚ? 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the Nature of Business Economics. 

 ÁoP ö£õ¸Íõuõμzvß ußø©ø¯ ÂÍUSP. 

17. Elucidate the various types of Elasticity of Demand. 

 £À÷ÁÖ ÁøP¯õÚ ÷uøÁ°ß ö|QÌa]zußø©ø¯ 
öuÎÄ£kzxP. 

18. Explain Gossen’s second law in detail. 

 ÷Põ\Ûß CμshõÁx Âvø¯ Â›ÁõP ÂÍUSP. 

19. Describe the phases of Returns to Scale. 

 AÍÄ÷Põ¾USz v¸®¦ÁuØPõÚ Pmh[PøÍ ÂÁ›. 

20. Discuss the types of market structure in economic terms. 

 ö£õ¸Íõuõμ Ai¨£øh°À \¢øu Pmhø©¨¤ß 
ÁøPPøÍ¨ £ØÔ ÂÁõvUP. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What are network devices? 

 Áø»¯ø©¨¦ \õuÚ[PÒ GßÓõÀ GßÚ? 

2. What is software piracy? 

 ö©ßö£õ¸Ò v¸mk GßÓõÀ GßÚ? 

3. How to creating a new word document?  

 ¦v¯ ö\õÀ BÁnzøu E¸ÁõUSÁx G¨£i? 

4. What is footer? 

 AiUSÔ¨¦ GßÓõÀ GßÚ? 

5. What is worksheet? 

 £ozuõÒ GßÓõÀ GßÚ? 

6. What is filter in excel? 

 GUö\À CÀ ÁiPmi GßÓõÀ GßÚ? 
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7. What do you mean by MOOC? 

 MOOC Gß£uß Aºzu® GßÚ? 

8. List out the name of any two E-services. 

 H÷uÝ® Cμsk ªß ÷\øÁPÎß ö£¯øμ¨ 
£mi¯¼k[PÒ. 

9. What do you mean by digital footprint? 

 iâmhÀ uh® GßÓõÀ GßÚ? 

10. What is cyber security? 

 Cøn¯a £õxPõ¨¦ GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain how copyright benefits to the creators of an 
original work. 

  A\À £øh¨¤ß £øh¨£õÍºPÐUS £v¨¦›ø© 
GÆÁõÖ £»ßPÒ Gß£øu ÂÍUSP. 

Or 

 (b) Discuss the significant importance of open source 
software. 

  vÓ¢u ‰» ö©ßö£õ¸Îß SÔ¨¤hzuUP 
•UQ¯zxÁzøu¨ £ØÔ ÂÁõvUPÄ®. 

12. (a) Explain the different options in aligning of text in 
word document. 

  BÁnzøu Eøμø¯ Cø\Ä EÒÍ £À÷ÁÖ 
Â¸¨£[PøÍ ÂÍUS[PÒ. 

Or 

 (b) How do you inserting the page numbers in Word 
document? 

  BÁnzvÀ £UP GsPøÍ GÆÁõÖ ö\¸SÁx? 
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13. (a) Narrate various steps involved in how to create a 

simple worksheet in detail. 

  J¸ GÎ¯ £ozuõÒ GÆÁõÖ E¸ÁõUSÁx Gß£x 
öuõhº£õÚ £À÷ÁÖ £iPøÍ Â›ÁõPU TÓÄ®. 

Or 

 (b) Explain how to create a animations an various 

option under the animation tab. 

  Aø\Åmh® ©ØÖ® Aø\ÅmhÀPÒ RÌ £À÷ÁÖ 
Â¸¨£[PøÍ GÆÁõÖ E¸ÁõUSÁx Gß£øu 
ÂÍUS[PÒ.  

14. (a) Explain the advantages of MOOC online education 

websites. 

  MOOC Cøn¨¤À PÀÂ Cøn¯uÍ[PÎß 

|ßø©PøÍ ÂÍUSP. 

Or 

 (b) Discuss the role of Swayam in enrichment of 

education. 

  PÀÂø¯ ö\Êø©¨£kzxÁvÀ _¯zvß £[øP¨ 
£ØÔ ÂÁõvUPÄ®. 

15.  (a) Difference Between Spoofing and Hijacking. 

  H©õØÖuÀ ©ØÖ® PhzuÀ BQ¯ÁØÖUS Cøh÷¯ 
EÒÍ ÷ÁÖ£õk. 

Or 

 (b) Distinguish between spyware and malware. 

  ìø£÷Áº ©ØÖ® w®ö£õ¸øÍ ÷ÁÖ£kzx[PÒ. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the different types of network devices used in a 
computer network. 

 PoÛ Áø»¯ø©¨¦ £¯ß£kzu¨£k® £À÷ÁÖ 
ÁøP¯õÚ Áø»¯ø©¨¦ \õuÚ[PøÍ ÂÍUSP. 

17. Discuss how to create a simple students application form 
in word document. 

 Áõºzøu BÁnzvÀ GÎ¯ ©õnÁº Âsn¨£¨ 
£iÁzøu GÆÁõÖ E¸ÁõUSÁx Gß£øu¨ £ØÔ 
ÂÁõvUPÄ®. 

18. Elaborate how to apply transitions between the slides 
and how to modify the transition. 

 ìø»kPÐUS Cøh°À ©õØÓ[PøÍ GÆÁõÖ 
£¯ß£kzxÁx ©ØÖ® ©õØÓzøu GÆÁõÖ ©õØÖÁx 
Gß£øu Â›ÁõPU TÖ[PÒ. 

19. Discuss the various Aadhaar online services and its 
usage. 

 £À÷ÁÖ Buõº Bßø»ß ÷\øÁPÒ ©ØÖ® Auß 
£¯ß£õk £ØÔ ÂÁõvUPÄ®. 

20. Discuss about various Data Privacy attacks. 

 £À÷ÁÖ uμÄ uÛ²›ø© uõUSuÀPÒ £ØÔ ÂÁõvUPÄ®. 
 
 

———————— 
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FUNDAMENTALS OF OFFICE MANAGEMENT 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define Office. 

 A¾Á»P® Áøμ¯Ö. 

2. List out the elements of office management? 

 A¾Á»P {ºÁõPzvß TÖPøÍ £mi¯¼kP? 

3. Define Organisation. 

 Aø©¨ø£ Áøμ¯ÖUP. 

4. What is meant by Administration? 

 {ºÁõP® GßÓõÀ GßÚ? 

5. What is meant by record filling? 

 £vÄ {μ¨¦Áuß ö£õ¸Ò GßÚ? 

6. Define record. 

 £vÄ Áøμ¯Ö. 

7. What do you mean by inward mail? 

 EÒ Ag\À GßÓõÀ GßÚ? 
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8. What do you mean by office correspondence? 

 A¾Á»P Piu® GßÓõÀ GßÚ? 

9. Define form. 

 £iÁzøu Áøμ¯Ö. 

10. What is report? 

 AÔUøP GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions. Choosing either (a) or (b). 

11. (a) Write the objectives of an office Management in 
detail. 

  A¾Á»P ÷©»õsø©°ß ÷|õUP[PøÍ Â›ÁõP 
GÊxP. 

Or 

 (b) Explain the Nature of Office management. 

  A¾Á»P ÷©»õsø©°ß ußø©ø¯ ÂÍUSP. 

12. (a) Explain the principles of span of controller. 

  Pmk¨£õmiß CøhöÁÎ°ß öPõÒøPPøÍ 
ÂÍUSP. 

Or 

 (b) Explain the characteristics of an organization. 

  Aø©¨¤ß £s¦PøÍ ÂÍUSP. 

13. (a) What is the importance of recording system? 

  £vÄ •øÓ°ß •UQ¯zxÁ® £ØÔ _¸UP©õP 
ÂÁ›? 

Or 

 (b) What are the characteristics of an efficient filling 
system? 

  vÓø©¯õÚ {μ¨¦uÀ Aø©¨¤ß £s¦PøÍ TÖ. 
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14. (a) What are the common barriers to communication? 

  uPÁÀ öuõhº¦UPõÚ ö£õxÁõÚ uøhPÒ ¯õøÁ? 

Or 

 (b) What are advantages and disadvantages of 
centralized mailing service in an office? 

  J¸ A¾Á»PzvÀ ø©¯¨£kzu¨£mh Ag\À 
÷\øÁ°ß |ßø©PÒ ©ØÖ® wø©PÒ £ØÔ GÊxP. 

15.  (a) How will you control office form? 

  A¾Á»P £iÁzøu GÆÁõÖ Pmk¨£kzxÃºPÒ? 

Or 

 (b) State the principles of report preparation. 

  AÔUøP u¯õ›¨¤ß öPõÒøPPøÍ TÖP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. What are the functions of office management? 

 A¾Á»P {ºÁõPzvß ö\¯À£õkPøÍU TÖP? 

17. What is committee organization? What are the merits 
and demerits? 

 SÊ Aø©¨¦ GßÓõÀ GßÚ? uSvPÒ ©ØÖ® SøÓ£õkPÒ 
GßÚ? 

18. Briefly discuss the various modem methods of filling. 

 {μ¨¦ÁuØPõÚ £À÷ÁÖ |ÃÚ •øÓPøÍ _¸UP©õP 
ÂÁõv. 
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19. Describe briefly the different types of communication 
services used in modern commercial establishment? 

 |ÃÚ {ÖÁÚzvÀ £¯ß£kzu¨£k® £À÷ÁÖ ÁøP¯õÚ 
uPÁÀ öuõhº¦ ÷\øÁPøÍ _¸UP©õP ÂÁ›. 

20. How will you design an office form? What are the 
principles to be observed in designing an office form. 

 A¾Á»P £iÁzøu GÆÁõÖ ÁiÁø©¨¥ºPÒ? A¾Á»P 
£iÁzøu ÁiÁø©¨£vÀ PÁÛUP ÷Ási¯ öPõÒøPPÒ 
¯õøÁ? 

  
———————— 
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 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. What do you understand by hire purchase system? 

 ÁõhøP öPõÒ•uÀ •øÓ ‰»® }[PÒ GßÚ 
¦›¢xöPõÒQÕºPÒ? 

2. Write any two differences between hire purchase and 
installment. 

 ÁõhøP öPõÒ•uÀ ©ØÖ® uÁøn BQ¯ÁØÖUS 
Cøh÷¯ H÷uÝ® Cμsk ÷ÁÖ£õkPøÍ GÊuÄ®. 

3. What is Dependent branch? 

 \õº¦ QøÍ GßÓõÀ GßÚ? 

4. What is Departmental account? 

 xøÓU PnUS GßÓõÀ GßÚ? 

5. What is memorandum of revaluation account? 

 ©Ö©v¨¥mkU PnUQß SÔ¨£õøn GßÓõÀ GßÚ? 

6. What is hidden goodwill? 

 ©øÓ•P |Øö£¯º GßÓõÀ GßÚ? 
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7. What is gaining ratio? 

 Buõ¯ ÂQu® GßÓõÀ GßÚ? 

8. What is dissolution of partnership? 

 Tmhõsø© Pø»¨¦ GßÓõÀ GßÚ? 

9. What do you mean by GAAP? 

 GAAP GßÓõÀ GßÚ? 

10. What is Ind AS? 

 C¢v¯ uμ{ø» GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) X Ltd. had purchased a machinery on hire purchase 
system from Y Ltd. The terms are that X Ltd. would 
pay Rs.20,000 down on signing the agreement and  
4 annual installments of Rs. 11,000 each 
commencing from the beginning of the next year.  
X Ltd. charged depreciation at 10% per annum 
under diminishing balance system. Y Ltd. charged 
interest at 10% per annum. Prepare machinery 
account and Y Ltd. account in the books of X Ltd. 

  X Ltd., Y Ltd C¼¸¢x ÁõhøP öPõÒ•uÀ •øÓ°À 
J¸ C¯¢vμzøu Áõ[Q¯x.  J¨£¢uzvÀ 
øPö¯Êzvk® ÷£õx X Ltd ¹.20,000 ©ØÖ® Akzu 
Bsk öuõhUPzvÀ C¸¢x JÆöÁõßÖ® ¹.11,000 
Ãu® 4 Á¸hz uÁøn¯õP ö\¾zu ÷Ásk® Gß£x 
Âv•øÓPÒ.  X Ltd. SøÓ¢x ö\À ©v¨¥mk 
•øÓ°À RÌ Á¸hzvØS 10% ÷u´©õÚzøu 
Á`¼zux.  X Ltd. BskUS 10% Ámi 
Á`¼UQÓx.  Y Ltd Cß ¦zuP[PÎÀ C¯¢vμU 
PnUS ©ØÖ® Y Ltd. PnUøPz u¯õ›UPÄ®. 

Or 
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 (b) A machine costing Rs.18,000 was purchased on 
installment purchase arrangement. Down payment 
is Rs.5,000 and annual installment is Rs.5000 each 
for 3 years. The buyer writes off depreciation on the 
machinery at 10% under straight line method. All 
the installments were paid on the due dates. Give 
the journal entries in the books of the buyer for  
3 years. 

  uÁøn •øÓ°À Áõ[S® HØ£õmiÀ ¹.18,000 
©v¨¤»õÚ C¯¢vμ® Áõ[P¨£mhx.  •ß£n® 
¹.5,000 ©ØÖ® Bsk uÁøn u»õ ¹.5,000,  
3 BskPÐUS.  Áõ[S£Áº C¯¢vμzvß «uõÚ 
÷u´©õÚzøu ÷|º÷Põmk •øÓ°ß RÌ 10% GÚ 
GÊxQÓõº.  AøÚzx uÁønPÐ® E›¯ ÷uvPÎÀ 
ö\¾zu¨£mhÚ.  3 BskPÐUS Áõ[S£Á›ß 
¦zuP[PÎÀ SÔ¨÷£kPøÍ u¯õ›UP. 

12. (a) From the following information relates to Madurai 
branch.  

Particulars Rs. Rs. 

Stock on 1.1.2023 11,200

Branch debtors on 1.1.23 6,300

Goods sent to branch 51,000

Cash sent to branch for 

Rent 1,500

Salaries 3,000

Petty cash 500 5,000

Sales at branch 

Cash 25,000

Credit 39,000 64,000

Cash received from debtors 41,200

Stock on 31.12.23 13,600

  Prepare branch account for the year 2023 under 
debtors system. 
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  ¤ßÁ¸® uPÁÀPÒ ©xøμ QøÍ öuõhº£õÚx  

ÂÁμ[PÒ ¹. ¹. 

1.1.2023 AßÖ \μUQ¸¨¦ 11,200

1.1.23 AßÖ QøÍ PhÚõÎPÒ 6,300

ö£õ¸mPÒ QøÍUS AÝ¨£¨£mhÚ 51,000

QøÍUS £n® AÝ¨£¨£mhx : 

ÁõhøP 1,500

\®£Í® 3,000

]À»øÓ öμõUP® 500 5,000

QøÍ°À ÂØ£øÚ 

öμõUP® 25,000

Phß 39,000 64,000

PhÚõÎPÎhª¸¢x ö£Ó¨£mh £n® 41,200

31.12.23 AßÖ \μUQ¸¨¦ 13,600

  PhÚõÎPÒ Aø©¨¤ß RÌ 2023B® BsiØPõÚ 
QøÍU PnUøPz u¯õ›UPÄ®. 

Or 

 (b) Rama Departmental stores has two departments  
A and B. From the following prepare departmental 
trading account. 

  Purchase: Department A-1,000 units, Department 
B- 2,000 units at a total cost of Rs.1,10,000. 

  Opening Stock: Department A – 400 units; 
Department B-600 units; 

  Sales: Department A — 900 units @ Rs.75 per unit 

  Department B- 2,100 units @ Rs.45 per unit 

  Assume that G.P rate is uniform for both the 
departments. 
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  μõ© i£õºmö©ßhÀ ì÷hõºì A ©ØÖ® B GÚ 

Cμsk xøÓPøÍU öPõskÒÍx. 

¤ßÁ¸ÁÚÁØÔÀ C¸¢x, xøÓ\õº¢u ÁºzuPU 

PnUøPz u¯õº ö\´¯Ä®. 

  öPõÒ•uÀ: xøÓ A-1,000 A»SPÒ, xøÓ B-2,000 

A»SPÒ ö©õzu® ¹.1,10,000. 

  öuõhUP¨ £[S: xøÓ A-400 A»SPÒ; xøÓ B-600 

A»SPÒ; ÂØ£øÚ: xøÓ A-900 A»SPÒ @ ¹.75 

J¸ A»S, xøÓ B-2,100 A»SPÒ @ ¹.45 A»S 

ö©õzu »õ£ ÂQu® C¸ xøÓPÐUS® J÷μ ^μõÚx 

GßÖ øÁzxU öPõÒ÷Áõ®. 

13. (a) Mani and Nandan were partners sharing profit and 

loss in the ratio of 3 : 2 They decieded to admit 

Palani into the partnership and revalue their assets 

and liabilities as indicated here under. 

  (i)  To depreciate stock, furniture and machinery 

by Rs.3,000; Rs.1,000 and Rs.5,000. 

  (ii) To provide for workmen’s compensation of 

Rs.4,000. 

  (iii) To bring into record investment of Rs.3,000 

which had not so far been recorded in the 

books of the firm. 

  They agreed to share profits in future in the ratio of 

2:2:1 respectively. Pass necessary journal and show 

the revaluation account. 
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  ©o²® |¢uÝ® 3:2 GßÓ ÂQuzvÀ »õ£ 
|èhzøu¨ £Qº¢xöPõÒÐ® £[SuõμºPÍõP 
C¸¢uÚº.  AÁºPÒ £ÇÛø¯ Tmhõsø©°À 
÷\ºzxUöPõÒÍÄ®, R÷Ç SÔ¨¤h¨£mkÒÍ£i 
u[PÒ ö\õzxUPÒ ©ØÖ© PhßPøÍ ©Ö©v¨¥k 
ö\´¯Ä® •iÄ ö\´uÚº. 

  (i) C¸¨¦, uÍ£õh[PÒ ©ØÖ® C¯¢vμ[PÎß 
©v¨ø£ ¹.3,000 SøÓUP: ¹.1,000 ©ØÖ® 
¹.5,000. 

  (ii) öuõÈ»õÍºPÐUS CÇ¨¥hõP ¹.4,000 ÁÇ[P 
÷Ásk®. 

  (iii) CxÁøμ {ÖÁÚzvß ¦zuP[PÎÀ £vÄ 
ö\´¯¨£hõu ¹.3,000 •u½møh £vÄ ö\´¯ 
÷Ásk®. 

  GvºPõ»zvÀ »õ£zøu •øÓ÷¯ 2:2:1 GßÓ 
ÂQuzvÀ £Qº¢x öPõÒÍ J¨¦UöPõshÚº.  
÷uøÁ¯õÚ £zv›øPø¯ AÝ¨£Ä® ©ØÖ® 
©Ö©v¨¥mk PnUøPU PõmhÄ®. 

Or 

 (b) R, S and M are partners sharing profits in the ratio 
of 3: 2: 1. S wants to retire from the firm. For this 
purpose, goodwill is valued at 2 years purchase of 
average super profit of last three years. The profit of 
the last three years are Rs.35,000, Rs.37,500 and 
Rs.40,000. The normal profit for similar firm is 
Rs.28,500. Pass journal entry for goodwill. 

  R, S ©ØÖ® M BQ¯øÁ 3:2:1 GßÓ ÂQuzvÀ 
»õ£zøu¨ £Qº¢x öPõÒÐ® £[SuõμºPÒ.  

S {ÖÁÚzvÀ C¸¢x K´Ä ö£Ó Â¸®¦QÓõº.  C¢u 
÷|õUPzvØPõP, Ph¢u ‰ßÖ BskPÎß \μõ\› 
`¨£º »õ£zøu 2 BskPÒ Áõ[SÁvÀ |Øö£¯º 
©v¨¤h¨£kQÓx.  Ph¢u ‰ßÖ Á¸h[PÎß »õ£® 
¹.35,000, ¹.37,500 ©ØÖ® ¹.40,000.  C÷u ÷£õßÓ 
{ÖÁÚzvØS \õuõμn »õ£® ¹.28,500.  
|Øö£¯ºPõÚ SÔ¨÷£kPøÍ u¯õ›UP. 
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14. (a) The balance sheet of a firm as on 31-3-2022 was as 
follows:  

Liabilities  Rs. Assets Rs. 
Capital Building 8,000
X 5,000 Investments 2,000
Y 4,000 Sundry debtors 1,000
Z 3,000 Cash 3,000
Sundry creditors 2,000  

 14,000  14,000

  The partnership was dissolved on the above date. 
Sundry creditors were paid at a discount of 5%. X 
agreed to take over the buildings at Rs.9,000.  Y the 
investments at 1,500 and Z the sundry debtors at 
Rs.600. The expenses of realization came to Rs.110. 

  Show the realization a/c only. 

  31&3&2022 AßÖ J¸ {ÖÁÚzvß C¸¨¦{ø» 
¤ßÁ¸©õÖ:  

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

•uÀ Pmhh® 8,000

X 5,000 •u½k 2,000

Y 4,000 PhÚõÎPÒ 1,000

Z 3,000 öμõUP® 3,000

PhÜ¢÷uõº 2,000  

 14,000  14,000

  ÷©ØPsh ÷uv°À Tmhõsø© Pø»UP¨£mhx.  
£À÷ÁÖ Phß ÁÇ[S£ÁºPÐUS 5% uÒÐ£i 
ÁÇ[P¨£mhx.  X Pmih[PøÍ ¹.9,000US GkzxU 
öPõÒÍ J¨¦UöPõshx.  Y •u½kPÒ 1,500 ©ØÖ® 
Z £À÷ÁÖ PhÚõÎPÒ ¹.600 GkzxU öPõÒÍ 
J¨¦UöPõshx.  ©Ö©v¨¥mk ö\»ÄPÒ ¹.110 
BÚx.  ©Ö©v¨¥mk PnUøPz u¯õ›UPÄ®. 

Or 
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 (b) Bim, Gim and Nim are partners sharing profits in 
the ratio of 2: 3: 5. Goodwill appears in their books 
at a value of Rs.60,000. Bim retires and on the day 
of Bim’s retirement goodwill is valued at Rs.30,000. 
Gim and Nim decided to share the future profits 
equally. Calculate gaining ratio and pass the 
necessary journal entries for goodwill. 

  ¤®, â® ©ØÖ® {® BQ¯øÁ 2:3:5 GßÓ ÂQuzvÀ 
»õ£zøu¨ £Qº¢x öPõÒÐ® £[SuõμºPÒ.  
AÁºPÎß ¦zuP[PÎÀ ¹.60,000 ©v¨¤À |Øö£¯º 
÷uõßÖ®. ¤® K´Ä ö£ÖQÓõº ©ØÖ® ¤®ªß K´Ä 
|õÎÀ |Øö£¯º ©v¨¦ ¹.30,000 BS®.  â® ©ØÖ® 
{® GvºPõ» »õ£zøu \©©õP £Qº¢x öPõÒÍ •iÄ 
ö\´uÚº. ö£ÖuÀ ÂQuzøuU PnUQmk, 
|Øö£¯¸UPõÚ ÷uøÁ¯õÚ SÔ¨÷£kPøÍ u¯õ›UP. 

15.  (a) Explain the disclosure requirements of AS-1. 

  AS-1 Cß öÁÎ¨£kzuÀ ÷uøÁPøÍ ÂÍUSP. 

Or 

 (b) Discuss the benefits of IFRS convergence India. 

  C¢v¯õÂÀ IFRS J¸[Qøn¨¤ß |ßø©PøÍ¨ 
£ØÔ ÂÁõvUPÄ®. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Ram purchased a van for Rs.42,000. Payment is made as 
Rs.10,000 down and four of Rs.10,000 each at the end of 
each year. Interest is charged at 10% per annum. Buyer 
depreciates the van at 10%p.a on written down value 
method.  

 Ram after having paid the down payment and first 
installment at the end of first year, could not pay the 
second installment and the hire vendor took possession of 
the van. The hire vendor after spending Rs. 1,280 repairs 
of the van sold if for Rs.31,000. Show the Ledger 
Accounts in the books of Ram. 
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 μõ® ¹.42,000US J¸ ÷ÁøÍ Áõ[QÚõº.  JÆöÁõ¸ 
Á¸hzvß CÖv°¾® u»õ ¹.10,000 ©ØÖ® u»õ 
¹.10,000 Ãu® |õßS uÁønPÍõP ö\¾zu¨£kQÓx.  
BskUS 10% Ámi Á`¼UP¨£kQÓx.  GÊu¨£mh 

©v¨¦ •øÓ°À Áõ[S£Áº ÷ÁÛß ©v¨ø£ 10% p.a CÀ 
SøÓUQÓõº. 

 •uÀ Á¸h CÖv°À •ß£nzøu²® •uÀ 
uÁønø¯²® ö\¾zv¯ μõ®, CμshõÁx uÁønø¯ 
ö\¾zu •i¯õuuõÀ, ÁõhøP ÂØ£øÚ¯õÍº ÷ÁøÚU 
øP¨£ØÔÚõº.  ÁõhøP ÂØ£øÚ¯õÍº ÷ÁøÚ ¹.1,280 
ö\»ÁÈzx £Êx£õºzx ¹.31,000US ÂØÓõº.  μõªß 
¦zuP[PÎÀ EÒÍ ÷£÷μk PnUSPøÍU PõmkP. 

17. A head office invoices goods to its branch at cost plus 
50%. Branch remits all cash received to the head office 
and all expenses are met by the H.O. From the following 
particulars, prepare the necessary accounts on the stock 
and debtors system to show the profit or loss at the 
branch. 

Particulars  Rs. Particulars Rs. 

Stock on 1.1.2023 
(Invoice Price) 

27,900 Goods returned by 
debtors 

3,600

Debtors 1.1.2023 20,400 Goods returned to 
H.O. by branch 

4,500

Goods invoiced to 
the branch (I.P.) 

1,53,000 Shortage of stock 1,350

Cash sales 75,000 Discount allowed 600

Credit sales 93,000 Expenses at the 
branch 

16,200

Cash collected 
from debtors 

91,200 Bad debts 600
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 J¸ uø»ø© A¾Á»P® Auß QøÍUS 50% ö\»ÂÀ 
ö£õ¸mPøÍ CßÁõ´ì ö\´QÓx.  QøÍ ö£Ó¨£mh 
AøÚzx £nzøu²® uø»ø© A¾Á»PzvØS 
AÝ¨¦QÓx ©ØÖ® AøÚzx ö\»ÄPøÍ²® H.O. 
¤ßÁ¸® ÂÁμ[PÎ¼¸¢x, QøÍ°À »õ£® AÀ»x 
|èhzøuU Põmh, \μUQ¸¨¦ ©ØÖ® PhÚõÎPÒ 
Aø©¨¤À ÷uøÁ¯õÚ PnUSPøÍz u¯õ›UPÄ®. 

ÂÁμ[PÒ  ¹. ÂÁμ[PÒ ¹. 

1.1.2023 AßÖ 
\μUQ¸¨¦ (I.P) 

27,900 PhÚõÎPÍõÀ 
v¸®£¨ ö£Ó¨£mh 

3,600

1.1.23 AßÖ 
PhÚõÎPÒ 

20,400 ö£õ¸mPÒ QøÍ 
‰»® uø»ø© 
A¾Á»PzvØS 
v¸®¤¯x 

4,500

ö£õ¸mPÒ QøÍUS 
AÝ¨£¨£mhÚ 
(I.P.) 

1,53,000 \μUQ¸¨¦ 
£ØÓõUSøÓ 

1,350

öμõUP ÂØ£øÚ 75,000 uÒÐ£i 
AÝ©vUP¨£kQÓx

600

Phß ÂØ£øÚ 93,000 QøÍ°À ö\»ÄPÒ 16,200

PhÚõÎPÎhª¸¢x 
£n® 
Á`¼UP¨£kQÓx 

91,200 ÁμõU PhßPÒ 600

18. Lokesh and Rajesh are equal partners.  Their Balance 
Sheet on 31.12.2022 was as follows: 

Liabilities  Rs. Assets Rs. 

Creditors 20,000 Cash at Bank 10,000

Capital a/c  Debtors 20,000

Lokesh 50,000 Stock at cost 15,200

Rajesh 30,000 Investment (cost 
Rs.15,000) 

12,000

  Fixed assets 43,000

 1,00,000  1,00,000
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 On the above date, Nitish was admitted on the following 

conditions: 

 (a) The new profit sharing will be 5:3:2 

 (b) Create 10% provision for discount on creditors 

 (c) Write off Rs.2,000 as bad debts and create 5% 

provision for doubtful debts. 

 (d) Value of stock at its market value of Rs.20,000 

 (e) Depreciate fixed assets by 15% 

 (f) Record investment at its cost. 

 (g) Nithish to bring Rs.20,000 as his capital 

 Prepare Revaluation account, capital account of partners 

and new balance sheet. 

 ÷»õ÷Pè ©ØÖ® μõ÷áè \© £[SuõμºPÒ 31.12.2022 

AßÖ AÁºPÒ C¸¨¦{ø» ¤ßÁ¸©õÖ: 

ö£õÖ¨¦PÒ  ¹. ö\õzxUPÒ ¹. 

PhÜ¢÷uõº 20,000 öμõUP® 10,000

•uÀ a/c  PhÚõÎPÒ 20,000

÷»õ÷Pè 50,000 \μUQ¸¨¦ 

(APÂø») 
15,200

μõ÷áè 30,000 •u½k (APÂø» 

¹.15,000) 
12,000

  {ø»¯õÚ 

ö\õzxUPÒ 
43,000

 1,00,000  1,00,000
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 ÷©ØPsh ÷uv°À, {vè ¤ßÁ¸® {£¢uøÚPÎß ÷£›À 
AÝ©vUP¨£mhõº: 

 (A) ¦v¯ »õ£¨ £QºÄ 5:3:2 BP C¸US® 

 (B) PhÚõÎPÒ «uõÚ uÒÐ£iUS 10% JxURmøh 
E¸ÁõUPÄ® 

 (C) ¹.2,000 ÁõμõU PhßPøÍ uÒÐ£i ö\´x, Áõμõ 
I¯UPhß JxUS 5% JxURmøh E¸ÁõUPÄ®. 

 (D) £[SPÎß ©v¨¦ Auß \¢øu ©v¨£õÚ ¹.20,000 

 (E) {ø»¯õÚ ö\õzxUPøÍ 15% SøÓUPÄ® 

 (F) •u½møh Auß ö\»ÂÀ £vÄ ö\´²[PÒ. 

 (G) {vè uÚx ‰»uÚ©õP ¹.20,000 öPõsk Áμ 
÷Ásk® 

 ©Ö©v¨¥mkU PnUS, £[SuõμºPÎß ‰»uÚU PnUS 
©ØÖ® ¦v¯ C¸¨¦{ø»U PnUS BQ¯ÁØøÓz 
u¯õ›UPÄ®. 

19. X, Y and Z are equal partners, whose Balance sheet on 
31.12.2022 is as follows: 

Liabilities  Rs. Assets Rs. 

Capitals Plant and 
Machinery 

4,000

X 1,600 Land and Building 4,000

Y 1,000 Debtors 2,000

 Furniture 1,600

Sundry creditors 10,000 Stock 1,600

X’s loan 2,000 Cash in hand 100

 Y’s capital (O/D) 1,300

 14,600  14,600
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 Due to lack of liquidity and weak financial position of the 
partners, the firm is solved. X and Z are not able to 
contribute anything and a sum of Rs.400 received from Y. 
All of them are declared insolved. 

 The assets are realized: Stock Rs.1,000; Plant & 
Machinery Rs.2,000; Furniture Rs.400; Land & Buildings 
Rs.1,600; and Debtors Rs.1,100 only. Realization 
expenses amounted to Rs.100. You are required to close 
the books of the firm. 

 X,Y ©ØÖ® Z BQ¯øÁ \© £[SuõμºPÒ, 31.12.2022 
AßÖ C¸¨¦{ø» ¤ßÁ¸©õÖ: 

ö£õÖ¨¦PÒ  ¹. ö\õzxUPÒ ¹. 

•uÀ Bø» ©ØÖ® 
C¯¢vμ[PÒ 

4,000

X 1,600 {»® ©ØÖ® Pmih® 4,000

Y 1,000 PhÚõÎPÒ 2,000

 ©μa\õ©õßPÒ 1,600

PhÜ¢÷uõº 10,000 \μUQ¸¨¦ 1,600

X – Phß 2,000 øP°¸¨¦ öμõUP® 100

 Y– Á[Q ÷©ÀÁøμ 
£ØÖ 

1,300

 14,600  14,600

 £n¨¦ÇUP® ©ØÖ® £[SuõμºPÎß £»ÃÚ©õÚ {v {ø» 

Põμn©õP, {ÖÁÚ® Pø»UP¨£mhx.  X ©ØÖ® Z 
BQ¯ÁØÓõÀ Gøu²® £[PÎUP •i¯õx ÷©¾®  

Y °hª¸¢x ¹.400 ö£Ó¨£mhx.  AøÁ AøÚzx® 
wºUP¨£mhuõP AÔÂUP¨£mhx. ö\õzxUPÒ 
Enμ¨£kQßÓÚ: £[S ¹.1,000: Bø» ©ØÖ® C¯¢vμ® 
¹.2,000; ©μa\õ©õßPÒ ¹.400; {»® ©ØÖ® Pmih[PÒ 
¹.1,600; ©ØÖ® PhÚõÎPÒ ¹.1,100 ©mk÷©.  
©Ö©v¨¥mk ö\»ÄPÒ ¹.100.  {ÖÁÚzvß ¦zuP 
PnUøP •iUP. 
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20. Explain the areas in which different accounting policies 
may be followed? 

 öÁÆ÷ÁÖ PnUQ¯À öPõÒøPPÒ ¤ß£ØÓ¨£k® 
£SvPøÍ ÂÍUSP. 

  
———————— 
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BUSINESS LAW 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is void contact? 
 ö\À»õu J¨£¢u® GßÓõÀ GßÚ? 

2. What is meant by executed contract? 
 {øÓ÷ÁØÓ¨£mh J¨£¢u® GßÓõÀ GßÚ? 

3. What are the meant by injunction? 
 uøh EzuμÄ GßÓõÀ GßÚ? 

4. What are exemplary damages? 
 •ß©õv›¯õÚ ÷\u[PÒ GßÓõÀ GßÚ? 

5. What is a contract of guarantee? 
 EzuμÁõu J¨£¢u® GßÓõÀ GßÚ? 

6. Who is a Co-surety? 
 Cøn EzuμÁõuuõμº ¯õº? 

7. What is a general lien? 
 ö£õx E›ø© GßÓõÀ GßÚ? 
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8. Define pledge. 
 EÖvö©õÈø¯ Áøμ¯Ö. 

9. What is meant by caveat emptor? 
 Áõ[S£Áº PÁÛUP GßÓõÀ GßÚ? 

10. Define a condition in a contract of sale. 
 ÂØ£øÚ J¨£¢uzvÀ J¸ {£¢uøÚø¯ Áøμ¯Ö. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Distinguish between : 

  (i)  Void agreement and Voidable contract.   

            (ii)  Void and illegal contracts. 
  Cøh÷¯ ÷ÁÖ£kzv  

  (i)  ö\À¾® J¨£¢u® ©ØÖ® ö\À»õu J¨£¢u®.  

  (ii)  uÁÓõÚ ©ØÖ® \mhÂ÷μõu J¨£¢u[PÒ. 

Or 

 (b) Comment on the statement that there cannot be a 
contract to make a contract. 

  J¸ J¨£¢u® ö\´¯ J¸ J¨£¢u® C¸UP •i¯õx 
GßÖ AÔUøP «x P¸zx. 

12. (a) Write notes on :  

  (i)  General damages  

  (ii)  Special damages. 
  SÔ¨¦ GÊxP : 

  (i) ö£õxÁõÚ ÷\u[PÒ 

  (ii) ]Ó¨¦ ÷\u[PÒ 

Or 
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 (b) Write notes on :  

  (i)  Nominal damages   

  (ii)  Exemplary damages. 
  SÔ¨¦ GÊxP : 

  (i) ö£¯μÍÂ»õÚ ÷\u[PÒ 

  (ii) •ß©õv›¯õÚ ÷\u[PÒ 

13. (a) Who is surety? What are his rights? 
  áõ«ß ¯õº? AÁÝøh¯ E›ø©PÒ GßÚ? 

Or 

 (b) What are the rights of surety? How the surety is 
discharged? 

  EzuμÁõuzvß E›ø©PÒ GßÚ? áõ«ß GÆÁõÖ 
ÂkÂUP¨£kQÓx? 

14. (a) What are the essential of a valid pledge? 
  \›¯õÚ EÖvö©õÈ°ß Azv¯õÁ]¯® GßÚ? 

Or 

 (b) What are the rights and duties of a bailee? 
  ¤øn Gk¨£Á›ß E›ø©PÒ ©ØÖ® Phø©PÒ 

GßÚ? 

15.  (a) When does the property in the goods sold pass form 
the seller to the buyer? 

  ÂØP¨£mh ö£õ¸mPÎÀ EÒÍ ö\õzx 
ÂØ£øÚ¯õÍøμ Áõ[S£Á¸US G¨÷£õx 
AÝ¨¦QÓx? 

Or 

 (b) Describe the rules relating to passing of property in 
the sale of goods. 

  ö£õ¸mPøÍ ÂØ£øÚ ö\´ÁvÀ ö\õzøu PhzxÁx 
öuõhº£õÚ ÂvPøÍ ÂÁ›. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. “All agreements are not contract, but all contract act 
agreements,”.  Discuss. 

 “GÀ» J¨£¢u[PÐ® J¨£¢u® AÀ», BÚõÀ AøÚzx 
J¨£¢u[PÐ® J¨£¢u[PÒ”. ÂÁõvUP. 

17. A minor is liable to pay for the necessaries of life supplied 
to him-Comment. 

 J¸ CÍÁº AÁ¸US ÁÇ[P¨£mh ÁõÌUøPz 
÷uøÁPÐUS £n® ö\¾zu ÷Ási¯Áº – P¸zx. 

18. “The liability of a surety is secondary: it is co-extensive 
with that of the principal debtor”. – Explain. 

 “J¸ EzuμÁõuzvß ö£õÖ¨¦ Cμshõ® {ø» : Cx 
•ußø©U PhÚõÎ²hß Cøn¢x Â›ÁõÚx”. – 
ÂÍUSP. 

19. What are the rights and duties of the pawnor and pawnee 
under the Indian Contact act? 

 C¢v¯ J¨£¢ua \mhzvß RÌ AhS øÁ¨£Áº ©ØÖ® 
AhS ¤i¨£Áº E›ø©PÒ ©ØÖ® Phø©PÒ GßÚ? 

20. Comment on the following: 

 Sub-sale by the buyer does not extinguish unpaid seller’s 
right to line. 

¤ßÁ¸ÁÚÁØÔÀ P¸zx : Áõ[S£Á›ß xøn 
ÂØ£øÚ¯õÚx ö\¾zu¨£hõu ÂØ£øÚ¯õÍ›ß Á›UPõÚ 
E›ø©ø¯ AønUPõx. 

  
———————— 
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Allied – INTERNATIONAL  TRADE 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What are the difference between internal and 
international trade? 

 EÒ|õmk ©ØÖ® \ºÁ÷u\ ÁºzuPzvØS GßÚ Âzv¯õ\®? 

2. What are the advantages of international trade in Global 
context? 

 E»PÍõÂ¯ `Ç¼À \ºÁ÷u\ ÁºzuPzvß |ßø©PÒ 
GßÚ? 

3. What is factor mobility theory? 

 Põμo C¯UP® ÷Põm£õk GßÓõÀ GßÚ? 

4. What is cost theory? 

 ö\»ÄU÷Põm£õk GßÓõÀ GßÚ? 

5. Define Balance of trade. 

 ÁºzuP \©{ø»ø¯ Áøμ¯Ö. 

6. What is Current account? 

 |h¨¦U PnUS GßÓõÀ GßÚ? 
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7. List out the world bank groups. 

 E»P Á[Q SÊUPøÍ £mi¯¼kP. 

8. What is Quotas? 

 JxURk GßÓõÀ GßÚ? 

9. What is TRIMS? 

 i›®ì GßÓõÀ GßÚ? 

10. List out the objectives of GATT. 

 GATT ß ÷|õUP[PøÍ £mi¯¼kP. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the importance of international trade? 

  \ºÁ÷u\ ÁºzuPzvß •UQ¯zxÁ® GßÚ? 

Or 

 (b) Evaluate the concept of international trade. 

  £ßÚõmk ÁºzuPzvß P¸zøu TÖP. 

12. (a) What are the importance of Absolute advantage 
theory? 

  •Êø©¯õÚ |ßø© ÷Põm£õmiß •UQ¯zxÁ® 
GßÚ? 

Or 

 (b) Explain the modern theory of International Trade 

  \ºÁ÷u\ ÁºzuPzvß |ÃÚ ÷Põm£õmøh ÂÍUSP. 
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13. (a) Examine the Disequilibrium in Balance of payment. 

  ö\¾zx® C¸¨¤À EÒÍ \©{ø»°ßø©ø¯ 
Bμõ´P. 

Or 

 (b) Explain the Marshal learner mechanism. 

  ©õºåÀ PØÓÀ ö£õÔ •øÓø¯ ÂÍUSP. 

14. (a) Discuss the various sources of IMF funding. 

  IMF {v²uÂ°ß £À÷ÁÖ Buõμ[PøÍ¨ £ØÔ 
ÂÁõv. 

Or 

 (b) Discuss about the Bretton woods conference. 

  ¤öμmhß Åmì ©õ|õk £ØÔ ÂÁõv. 

15. (a) What are the functions of TRIPS? 

  TRIPS Cß ö\¯À£õkPÒ GßÚ? 

Or 

 (b) Distinguish between WTO and GATT? 

  WTO ©ØÖ® GATT BQ¯ÁØøÓ ÷ÁÖ£kzxP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. How does an environmental issue pose a challenge to 
International business? 

 _ØÓa`ÇÀ ¤μa]øÚ £ßÚõmk ÁoPzvØS GÆÁõÖ 
\Áõ»õP EÒÍx? 
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17. Despite an improvement over Ricardo’s theory, factor 
endowment theory is widely criticized. Explain the 
reasons. 

 ›UPõº÷hõÂß ÷Põm£õmiÀ •ß÷ÚØÓ® C¸¢u÷£õv¾®, 
Põμo öPõøh ÷Põm£õk £μÁ»õP Â©º]UP¨£kQÓx. 
Põμn[PøÍ ÂÍUSP. 

18. What are the methods of correcting Disequilibrium in 
BOP? 

 BOP CÀ \©{ø»°ßø©ø¯ \› ö\´²® •øÓPÒ GßÚ? 

19. Explain in brief, the responsibilities of IMF. 

 IMF ß ö£õÖ¨¦PøÍ _¸UP©õP ÂÍUPÄ®. 

20. Describe the decision making process and structure of 
WTO. 

 WTO Cß •iöÁkUS® ö\¯À•øÓ ©ØÖ® Pmhø©¨ø£ 
ÂÁ›. 

 

 

–––––––––– 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is Memory unit? 

 {øÚÁP A»S GßÓõÀ GßÚ? 

2. List out the output devices? 

 öÁÎ±mk \õuÚ[PøÍ £mi¯¼k? 

3. What is Spell checker? 

 GÊzx¨¤øÇ \›£õº¨¦ GßÓõÀ GßÚ? 

4. Write the name of four types of alignment? 

 |õßS ÁøP¯õÚ ^μø©¨¦PÎß ö£¯øμ GÊxP. 

5. What is Excel? 

GUö\À GßÓõÀ GßÚ? 

6. Give the two importance of spread sheet. 

 Â›zuõÎß Cμsk •UQ¯zxÁzøuU GÊxP? 

7. Write a note on formatting a table? 

 AmhÁønø¯ ÁiÁø©¨£vÀ SÔ¨ø£ GÊxP. 
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8. What is data analytics? 

 uμÄ £S¨£õ´Ä GßÓõÀ GßÚ? 

9. What is power point presentation? 

 £Áº £õ°ßm ¤μ\ß÷håß GßÓõÀ GßÚ? 

10. Write any two importance of using power point? 

 £Áº £õ°smøh¨ £¯ß£kzxÁuß Cμsk 
•UQ¯zxÁzøu GÊxP? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the components of CPU? Explain. 

  CPU Cß TÖPÒ ¯õøÁ? ÂÍUSP. 

Or 

 (b) What are the functions perform by operating 
system? 

  C¯UP •øÓø©°ß ö\¯À£õkPÒ GßÚ? 

12. (a) What are the file menu operations? 

  ÷Põ¨¦ ö©Ý ö\¯À£õkPÒ GßÚ? 

Or 

 (b) What is spell checker? How to spell check a 
document? Explain. 

  GÊzx¨¤øÇ \›£õº¨¦ GßÓõÀ GßÚ? BÁnzøu 
\›£õº¨£øu G¨£i Ea\›¨£x? ÂÍUSP. 

13. (a) Explain how to save spread sheet. 

  Â›uõøÍ GÆÁõÖ ÷\ª¨£x Gß£øu ÂÍUSP. 

Or 

 (b) What are the formulas in spread sheet? 

  Â›zuõÎÀ EÒÍ `zvμ[PÒ ¯õøÁ? 



S–4570 

  

  3

14. (a) Write a short note on preparation of financial 
statement? 

  {v{ø» AÔUøP u¯õ›¨£x SÔzx J¸ ]Ö 
SÔ¨ø£ GÊxP. 

Or 

 (b) Explain the steps to create charts. 

  ÂÍUP¨£h[PøÍ E¸ÁõUSÁuØPõÚ £iPøÍ 
ÂÍUSP. 

15.  (a) What are the basic importance of power point 
presentation? 

  £Áº £õ°ßm ¤μ\ß÷håÛß Ai¨£øh 
•UQ¯zxÁ® GßÚ? 

Or 

 (b) How to insert a bulleted list in power point? 

  £Áº £õ°siÀ ¦À»m £mi¯ø» GÆÁõÖ 
ö\¸SÁx? 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Briefly explain the role of operating system? 

 C¯UP •øÓø©°ß £[øP _¸UP©õP ÂÍUSP. 

17. Explain document formatting in detail. 

 BÁn ÁiÁø©¨ø£ Â›ÁõP ÂÍUSP. 

18. Discuss the functions in spread sheets with examples. 

 Â›uõÒPÎÀ EÒÍ ö\¯À£õkPøÍ GkzxUPõmkPÐhß 
ÂÍUSP. 
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19. Explain the various types of charts in spread sheet. 

 Â›zuõÎÀ EÒÍ £À÷ÁÖ ÁøP¯õÚ ÂÍUP¨£h[PøÍ 
ÂÍUSP. 

20. Briefly explain the features of power point presentation. 

 £Áº £õ°ßm ¤μ\ß÷håÛß A®\[PøÍ _¸UP©õP 
ÂÍUSP. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is an Abstraction? 

 Abstraction GßÓõÀ GßÚ? 

2. Define Identifier. 

 Identifier Áøμ¯ÖUPÄ®. 

3. List some special properties of constructor function. 

 Constructor ö\¯À£õkPÎß ]» ]Ó¨¦¨ £s¦PøÍ 

£mi¯¼kP. 

4. What is a Class? 

 Class GßÓõÀ GßÚ? 

5. Write the syntax of try and catch block. 

 Try and Catch block Syntax GÊxP. 
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6. Write the use of break statement. 

 Break Statement Cß £¯ß£õmøh GÊuÄ®. 

7. What is an error and list its types? 

 Error GßÓõÀ GßÚ ©ØÖ® Auß ÁøPPøÍ £mi¯¼kP. 

8. Write the Syntax and example for input and output 

statement. 

 EÒÏk ©ØÖ® öÁÎ±k AÔUøP°ß Syntax I 

Euõμnzxhß GÊxP. 

9. Define Static members. 

 Static members £ØÔ Áøμ¯ÖUPÄ®. 

10. What is the Template? 

 Template GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Outline the basic datatypes in C++ and explain. 

  C++ CÀ EÒÍ Ai¨£øh uμÄÁøPPøÍ ÂÍUSP. 

Or 

 (b) Discuss the single inheritance with a suitable 

example. 

  ö£õ¸zu©õÚ Euõμnzxhß single inheritance £ØÔ 

ÂÁõvUP. 
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12. (a) Write a note on Copy Constructor.  

  Copy Constructor £ØÔ GÊxP. 

Or 

 (b) Explain the Scope resolution operators in C++. 

  C++ CÀ EÒÍ Scope resolution B¨÷μmhºPøÍ¨ 
£ØÔ ÂÍUSP. 

13. (a) Explain the Multiple Catch Statement with an 
example. 

  Multiple Catch Statement £ØÔ J¸ Euõμnzxhß 
ÂÍUSP. 

Or 

(b) Describe the This Pointer with an example. 

  This Pointer  £ØÔ Euõμnzxhß ÂÁ›UPÄ®. 

14. (a) List and explain the Built in exceptions in C++. 

  C++ CÀ EÒÍ Built in exception PøÍ £mi¯¼mk 
ÂÍUSP.  

Or 

 (b) Discuss the manipulators in C++. 

  C++ CÀ EÒÍ Manipulators £ØÔ ÂÍUSP. 

15.  (a) Write the rules for overloading operators. 

  Overloading operators £ØÔ¯ ÂvPøÍ GÊxP. 

Or 

 (b) Describe about templates in C++. 

  C++ CÀ EÒÍ Templates £ØÔ ÂÁ›UP. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain in detail about the looping statement in C++. 

 C++ CÀ EÒÍ looping statement £ØÔ Â›ÁõP GÊxP. 

17. Discuss in detail about Function Overloading. 

 Function Overloading £ØÔ Â›ÁõP GÊuÄ®. 

18. Explain the Friend Function with an example. 

 Friend Function £ØÔ Euõμnzxhß ÂÍUSP. 

19. Analyze the Virtual Function with an example. 

 J¸ GkzxUPõmkhß Virtual Function £ØÔ £S¨£õ´Ä 
ö\´P. 

20. What is an inheritance? Explain any two types of 
inheritance. 

 Inheritance GßÓõÀ GßÚ? H÷uÝ® Cμsk inheritance 
ÁøPPøÍ £ØÔ Euõμnzxhß ÂÍUPÄ®. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. State the meaning of leave with wages. 

 Fv¯zxhß Âk¨¦ Gß£uß ö£õ¸øÍU SÔ¨¤kP. 

2. Write a short note on welfare of workers. 

 öuõÈ»õÍº |»ß SÔzx J¸ ]Ö SÔ¨ø£ GÊx[PÒ. 

3. Define ‘‘Appellate Tribunal’’. 

 ÷©À•øÓ±mk wº¨£õ¯® Gß£øu Áøμ¯Ö. 

4. What is Foreign Exchange? 

 A¢{¯ ö\»õÁo GßÓõÀ GßÚ? 

5. What is profession? 

 öuõÈÀ GßÓõÀ GßÚ? 

6. What is financial institution? 

 {v {ÖÁÚ® GßÓõÀ GßÚ? 

7. Define Cartel. 

 Tmhø©¨¦ Áøμ¯Ö. 
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8. What is Anti-Competitive Agreements? 

 ÷£õmi Gvº¨¦ J¨£¢u[PÒ GßÓõÀ GßÚ? 

9. What is Intellectual Property Rights? 

 AÔÄ\õº ö\õzx›ø© GßÓõÀ GßÚ? 

10. What is Layout design? 

 uÍÁø©¨¦ GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the Annual leave with wages in Factories 
Act 1948. 

  öuõÈØ\õø»PÒ \mh® 1948 CÀ Fv¯zxhß Ti¯ 
Á¸hõ¢vμ Âk¨ø£ ÂÍUSP.  

Or 

 (b) State the special provisions relating to Hazardous 
process. 

  A£õ¯Pμ©õÚ ö\¯À•øÓ öuõhº£õÚ ]Ó¨¦ 
ÂvPøÍU SÔ¨¤kP. 

12. (a) State the procedure for compliance under the FEMA 
Act 1999. 

  Lö£©õ \mh® 1999 Cß RÌ Cn[SÁuØPõÚ 
|øh•øÓø¯U SÔ¨¤kP. 

Or 

 (b) Discuss about the Board structure of Foreign 
Exchange Management Act. 

  A¢{¯a ö\»õÁo ÷©»õsø©a \mhzvß Áõ›¯U 
Pmhø©¨ø£¨ £ØÔ ÂÁõv. 
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13. (a) What are the intermediaries carrying on a 
designated business in Prevention of Money 
laundering Act? 

  £n ÷©õ\i uk¨¦a \mhzvÀ {¯ªUP¨£mh 
ÁoPzøu |hzx® CøhzuμPºPÒ ¯õº? 

Or 

 (b) Explain the functions of Adjudication authorities. 

  wº¨¦ ÁÇ[S® AvPõ›PÎß ö\¯À£õkPøÍ 
ÂÍUSP. 

14. (a) What Constitutes Abuse of Dominance? 

  BvUPzvß xè¤μ÷¯õP® GßÓõÀ GßÚ? 

Or 

 (b) Distinguish between MRTP Act and Competition 
Act. 

  MRTP \mh® ©ØÖ® ÷£õmi \mhzøu ÷ÁÖ£kzxP. 

15. (a) What are the procedures to be followed in patent 
modifications? 

  Põ¨¦›ø© ©õØÓ[PÎÀ ¤ß£ØÓ ÷Ási¯ 
|øh•øÓPÒ GßÚ? 

Or 

 (b) Mention the laws that govern the trade secrets. 

  ÁºzuP CμP]¯[PøÍ {ºÁQUS® \mh[PøÍU 
SÔ¨¤kP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. State the provisions of the Factories Act relating to the 
health and Welfare of the workers. 

 öuõÈ»õÍºPÎß EhÀ|»® ©ØÖ® £õxPõ¨¦ öuõhº£õÚ 
öuõÈØ\õø»PÒ \mhzvß ÂvPøÍU SÔ¨¤kP. 
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17. Discuss the establishment and jurisdiction of Appellate 
Tribunal constituted under the Foreign Exchange 
Management Act, 1999. 

 A¢{¯a ö\»õÁo  ÷©»õsø©a \mh®, 1999 ß RÌ 
Aø©UP¨£mh ÷©À•øÓ±mk wº¨£õ¯zøu {ÖÄuÀ 
©ØÖ® AvPõμ Áμ®¦ £ØÔ ÂÁõv. 

18. Explain the punishment for the Offence of Money-
Laundering. 

 £n÷©õ\i SØÓzvØPõÚ ushøÚø¯ ÂÍUS[PÒ. 

19. Explain the duties and powers of Competition Act 2002. 

 ÷£õmi \mh®  2002 Cß Phø©PÒ ©ØÖ® AvPõμ[PøÍ 
ÂÍUSP. 

20. Narrate the Genesis and development of IPR in India. 

 C¢v¯õÂÀ IRR  Cß ÷uõØÓ® ©ØÖ® ÁÍºa]ø¯ 
ÂÁ›UPÄ®. 

–––––––––– 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. State the rules for naming the identifier. 

 Aøh¯õÍ[PõmiUS ö£¯›kÁuØPõÚ ÂvPøÍ 
SÔ¨¤kP. 

2. Write the syntax of if-else statement. 

 if-else AÔUøP°ß öuõh›¯À GÊxP. 

3. Define classes and objects in JAVA. 

 Classes and objects – Áøμ¯Ö. 

4. What is method overloading? 

 Method overloading GßÓõÀ GßÚ? 

5. What is an Interface? 

 Interface GßÓõÀ GßÚ? 

6. Write the syntax of multiple catch statement. 

 £» ¤i¨¦ AÔUøP°ß öuõh›¯À GÊxP. 
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7. Write a note on thread. 

 Thread – SÔ¨¦ ÁøμP. 

8. Define DeadLock. 

 DeadLock – Áøμ¯Ö. 

9. What is an enumeration? 

 PnURk GßÓõÀ GßÚ? 

10. List the pros of using Adapter classes. 

  Ahõ¨hº ÁS¨¦PøÍ¨ £¯ß£kzxÁuß |ßø©PøÍ¨ 
£mi¯¼kP. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Write a java program to demonstrate any three 
string operations. 

  H÷uÝ® ‰ßÖ string ö\¯À£õkPøÍ {¹¤UP 
áõÁõ {μø» GÊxP. 

Or 

 (b) Describe JVM. 

  JVM – Áøμ¯Ö. 

12. (a) Write the usage of ‘this’ and ‘super’ keyword. 

  ‘this’ ©ØÖ® ‘super’ keyword £ØÔ GÊxP. 

Or 

 (b) Describe constructors with example. 

  Constructors – Euõμnzxhß ÂÍUSP. 
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13. (a) Discuss in detail about the concepts of throwing and 
catching exceptions. 

  Throwing and catching exceptions – £ØÔ Â›ÁõP 
ÂÍUSP. 

Or 

 (b) Write note on built-in exception. 

  Built-in Exception SÔ¨¦ ÁøμP. 

14. (a) Describe how to create a thread with an example. 

  Thread – GÆÁõÖ E¸ÁõUSÁx Gß£øu £ØÔ 
Euõμnzxhß ÂÍUS. 

Or 

 (b) Describe ‘DeadLock’ with example. 

  DeadLock – ÂÍUSP. 

15.  (a) Explain the various types of inner class. 

  áõÁõÂÀ EÒÍ EÒ ÁS¨¤ß £À÷ÁÖ ÁøPPøÍ 
ÂÍUSP. 

Or 

 (b) Differentiate List and Array List. 

  List ©ØÖ® Array List I – ÷ÁÖ£kzx. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Discuss the looping statement in JAVA. 

 áõÁõÂÀ EÒÍ _ÇÀ AÔUøPPøÍ¨ £ØÔ ÂÍUSP. 

17. Classify the various forms of inheritance with example. 

 Forms of inheritance – Euõμnzxhß ÁøP¨£kzxP. 
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18. Illustrate the creation and import of packages in JAVA. 

 áõÁõÂÀ Creation ©ØÖ® import packages £ØÔ Â›ÁõP 
ÂÍUS. 

19. Write a threading program which uses the same method 
asynchronously to print the numbers 1 to 10 using 
Thread 1 and to print 90 to 100 using Thread 2. 

 vöμm 1 I £¯ß£kzv 1 •uÀ 10 Áøμ°»õÚ 
GsPøÍ²®, vöμm 2 I £¯ß£kzv 90 •uÀ 100 Áøμ 
Aa]k® áõÁõ {μø» GÊxP. 

20. Explain the various collection classes in JAVA. 

 áõÁõÂÀ öÁÆ÷ÁÖ collection classes I ÂÍUSP. 

———————— 
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 Section A  (10 × 2 = 20) 

Answer all questions. 

1. Define variable. 

 ©õÔ: Áøμ¯ÖUP. 

2. Write the use of the Boolean Data type. 

 Boolean uμÄ ÁøP°ß £¯øÚ GÊxP. 

3. Identify the need of continue statement. 

 continue Pmhø©¨¤ß ÷uøÁø¯ PshÔP. 

4. Write any two functions for generating random numbers. 

 ÷μsh® GsPøÍ E¸ÁõUS® ö\¯À£õkPÒ GøÁ÷¯Ý® 
Cμsøh GÊxP. 

5. How will you declare an array in PHP? 

 PHP À Array Declare ö\´Áx G¨£i? 

6. Write the syntax of for each loop. 

 for each loop ß syntax GÊxP. 
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7. Define : Class. 

 Class : Áøμ¯ÖUP. 

8. What are the uses of user-defined functions? 

 £¯ÚõÍº–Áøμ¯ÖUP¨£mh ö\¯À£õkPÎß £¯ßPÒ 
¯õøÁ? 

9. Expand SQL. 

 SQL : Â›ÁõUPÄ®. 

10. What is SQlite? 

 SQlite GßÓõÀ GßÚ? 

 Section B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) List the basic development concepts of PHP. 

  PHP Cß Ai¨£øh E¸ÁõUP ÷Põm£õkPøÍ 
£mi¯¼kP. 

Or 

 (b) Illustrate the data types of PHP. 

  PHP Cß uμÄ ÁøPPøÍ Â›ÁõP GkzxøμUP. 

12. (a) What is the use of if.else statement? 

  if.else Pmhø©¨¤ß £¯ß GßÚ? 

Or 

 (b) Identify five string functions of PHP. 

  PHP Cß string ö\¯À£õkPÒ GøÁ÷¯Ý® I¢øu 
PshÔP. 
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13. (a) What is Array Iterator? Explain. 

  Array Iterator GßÓõÀ GßÚ? ÂÍUSP. 

Or 

 (b) List the functions for generating dates and times in 
PHP. 

  PHP À |õÒ ©ØÖ® ÷|μ® E¸ÁõUS® 
ö\¯À£õkPøÍ £mi¯¼kP. 

14. (a) Identify the visibility lends of PHP class members. 

  PHP class  EÖ¨¤ÚºPÎß öu›Ä{ø» {ø»PøÍ 
PshÔP. 

Or 

 (b) Explain Recursion. 

  Recursion  : ÂÍUSP. 

15. (a) Illustrate Data retrieval using MySQLi. 

  MySQLi  £¯ß£kzv uμÄ «möhkzuø» 
GkzxøμUP. 

Or 

 (b) Identify the MYSQL data types. 

  MySQL uμÄ ÁøPPøÍ PshÔP. 

 Section C  (3 × 10 = 30) 

Answer any three questions. 

16. Illustrate the operators of PHP. 

 PHP Cß operator  PøÍ GkzxøμUP. 

17. Identify the numeric functions of PHP.  

 PHP Cß Gs Pou ö\¯À£õkPøÍ PshÔP. 
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18. Illustrate formatting dates and times in PHP. 

 PHP CÀ ÷uv, ÷|μ® format ö\´¯ £¯ß£kzu¨£k® 
ö\¯À£õkPøÍ GkzxøμUP. 

19. Discuss the various elements of user-defined functions. 

 £¯ÚõÍº Áøμ¯ÖUP¨£mh ö\¯À£õkPÎß £À÷ÁÖ 
A®\[PøÍ GkzxøμUP. 

20. Demonstrate the use of PDO in PHP. 

 PHP À PDO £¯ß£õmøh GkzxøμUP. 

–––––––––– 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is data? 

 uμÄ GßÓõÀ GßÚ? 

2. Define DBMS. 

 DBMS – Áøμ¯Ö. 

3. What is aggregation? 

 J¸[Qøn¨¦ GßÓõÀ GßÚ? 

4. What is degree and cardinality? 

 iQ› ©ØÖ® PõºiÚõ¼mi GßÓõÀ GßÚ? 

5. Write a note on INF. 

 INF – SÔ¨¦ ÁøμP. 

6. What is transaction? 

 Transaction – GßÓõÀ GßÚ? 

7. Define DML. 

 DML – Áøμ¯Ö. 
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8. List the various data types available in SQL. 

 SQL Cß £À÷ÁÖ uμÄ ÁøPPøÍ £mi¯¼kP. 

9. Write the syntax for ‘Where’ clause. 

 ‘Where’ ¤›ÄUPõÚ öuõh›¯À GÊxP. 

10. Define numeric function in SQL. 

 Numeric function – Áøμ¯Ö. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Describe the structure of DBMS. 

  DBMS – Cß Pmhø©¨ø£ ÂÍUSP. 

Or 

 (b) Write short note on Database users. 
  uμÄzuÍ £¯ÚºPÒ £ØÔ ]Ö SÔ¨¦ GÊxP. 

12. (a) Summarize the advantages of ER modeling. 

  ER ©õh¼ß |ßø©PøÍ _¸UP©õP TÖP. 

Or 

 (b) Describe converting Unary Relationship to tables. 
  ³Ú› EÓøÁ AmhÁønPÍõP ©õØÖÁøu £ØÔ 

ÂÁ›. 

13. (a) Determine the usage of atomic domains and the 
first normal form. 

  Atomic domains ©ØÖ® INF – Cß £¯ß£õkPøÍ 
ÂÍUSP. 

Or 

 (b) Illustrate 4NF Decomposition algorithm with 
example. 

  4NF ]øuÄ ÁÈ•øÓø¯ GkzxUPõmkhß 
ÂÍUSP. 



S–4576 

  

  3

14. (a) Explain the various DML commands in SQL. 

  DML commands – ÂÍUSP. 

Or 

 (b) Discuss the various relational set operators in SQL. 

  SQL-CÀ EÒÍ £À÷ÁÖ ›÷»åÚÀ ö\m 
B£÷μmhºPøÍ¨ £ØÔ ÂÍUSP. 

15.  (a) Describe the following. 

  (i) Natural join (ii) Cross join 

  ¤ßÁ¸ÁÚÁØøÓ ÂÁ›. 

  (i) C¯ØøP¯õÚ CønÄ (ii) SÖUS Cøn 

Or 

 (b) Explain ANY and ALL operators with example. 

  ANY ©ØÖ® ALL B£÷μmhºPøÍ ÂÍUSP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Mention the advantages of using DBMS. 

 DBMS £¯ß£kzxÁuß |ßø©PøÍ SÔ¨¤kP. 

17. Explain the following. 

 (a) Mapping algorithm 

 (b) Mapping regular entities 

 ¤ßÁ¸ÁÚÁØøÓ ÂÍUSP. 

 (A) ÷©¨¤[ AÀPõ›u® 

 (B) ÷©¨¤[ öμS»º Gßijì 
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18. Determine the significance of functional dependency 
theory. 

 Functional Dependency Theory-•UQ¯zxÁzøu 
ÂÍUSP. 

19. Demonstrate DDL and DML commands with sample 
table. 

 DDL ©ØÖ® DML Commands I AmhÁønø¯¨ 
£¯ß£kzv ÂÍUSP. 

20. Explain in detail the various functions of SQL. 

 SQL-Cß £À÷ÁÖ ö\¯À£õkPøÍ Â›ÁõP ÂÍUSP. 

  
———————— 
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 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. What are micro enterprises? 

 SÖ {ÖÁÚ[PÒ GßÓõÀ GßÚ? 

2. What is an MSME sector? 

 MSME xøÓ GßÓõÀ GßÚ? 

3. What is the meaning of small enterprise growth? 

 ]Ö {ÖÁÚ ÁÍºa]°ß ö£õ¸Ò GßÚ? 

4. What is Intrapreneur? 

 Cßmμõ¤ŸÛ¯º GßÓõÀ GßÚ? 

5. What is enterprise opportunity? 

 {ÖÁÚ Áõ´¨¦ GßÓõÀ GßÚ? 

6. What is selection of site? 

 uÍzvß ÷uºÄ GßÓõÀ GßÚ? 
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7. What is the meaning ideal debt equity mix? 

 ]Ó¢u Phß \©£[S P»øÁ°ß ö£õ¸Ò GßÚ? 

8. What is operating management in Small Scale 
Enterprises? 

 ]Ô¯ AÍÂ»õÚ {ÖÁÚ[PÎÀ C¯UP ÷©»õsø© 
GßÓõÀ GßÚ? 

9. What is management performance for Small Scale 
Enterprises? 

 ]Ô¯ AÍÂ»õÚ {ÖÁÚ[PÐUPõÚ ÷©»õsø© 
ö\¯ÀvÓß GßÚ? 

10. What are the strategies for Small Scale Enterprises?  

 ]Ô¯ AÍÂ»õÚ {ÖÁÚ[PÐUPõÚ EzvPÒ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) Explain the importance of small scale enterprises. 

  ]Ö {ÖÁÚ[PÎß •UQ¯zxÁzøu ÂÍUPÄ®. 

Or 

 (b) Explain large and medium scale industries.  

  ö£›¯ ©ØÖ® |kzuμ AÍÂ»õÚ öuõÈÀPøÍ 
ÂÍUSP. 

12. (a) What are the development agencies for small 
enterprises? Explain. 

  ]Ö {ÖÁÚ[PÐUPõÚ ÷©®£õmk •Pø©PÒ GßÚ? 
ÂÍUSP. 

Or 

 (b) Explain the role in Developing Small Scale 
Enterprises. 

  ]ÖöuõÈÀPøÍ ÁÍº¨£vÀ EÒÍ £[øP ÂÍUSP. 
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13. (a) Write short notes on :  

  (i) Choice of Enterprise,  

  (ii) Choice of technology. 

  ]Ö SÔ¨¦PøÍ GÊuÄ® :  

  (i)  {ÖÁÚz ÷uºÄ  

  (ii)  öuõÈÀ~m£z ÷uºÄ. 

Or 

 (b) Explain the ownership structure of business plan. 

  ÁoPz vmhzvß E›ø©¯õÍº Pmhø©¨ø£ 
ÂÍUSP. 

14. (a) Explain the financial management issues in Small 
Scale Enterprise. 

  ]Ô¯ AÍÂ»õÚ {ÖÁÚzvÀ {v ÷©»õsø© 
]UPÀPøÍ ÂÍUSP. 

Or 

 (b) What are the types of owners in securities in Small 
Scale Enterprise? Explain. 

  ]Ô¯ AÍÂ»õÚ {ÖÁÚzvÀ GßÚ ÁøP¯õÚ 
E›ø©¨ £zvμ[PÒ EÒÍÚ? ÂÍUSP. 

15.  (a) Explain the succession and harvesting strategies of 
bankruptcy. 

  vÁõÀ {ø»°ß Áõ›_ ©ØÖ® AÖÁøh EzvPøÍ 
ÂÍUSP. 

Or 

 (b) Explain how to stabilization strategies for small 
enterprises. 

  ]Ö {ÖÁÚ[PÐUPõÚ {ø»¨£kzuÀ EzvPøÍ 
G¨£i ÂÍUSÁx. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. What is meaning Entrepreneurship? Explain the history 
of entrepreneurship development. 

 öuõÈÀ•øÚÄ GßÓõÀ GßÚ? öuõÈÀ•øÚ÷Áõº 
ÁÍºa]°ß Áμ»õØøÓ ÂÍUSP. 

17. Discuss the entrepreneurial decision process. 

 öuõÈÀ •øÚ÷Áõº •iÄ ö\¯À•øÓ £ØÔ 
ÂÁõvUPÄ®. 

18. Explain the organizational frame work for business plan. 

 ÁoPz vmhzvØPõÚ {ÖÁÚ Pmhø©¨ø£ ÂÍUSP. 

19. Explain the various types of debt securities. 

 £À÷ÁÖ ÁøP¯õÚ Phß £zvμ[PøÍ ÂÍUSP. 

20. Discuss the growth and stabilization strategies for small 
enterprises. 

 ]Ö {ÖÁÚ[PÎß ÁÍºa] ©ØÖ® EÖv¨£kzuÀ 
EzvPøÍ¨ £ØÔ ÂÁõvUPÄ®. 

 
 

———————— 
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B.Com. DEGREE EXAMINATION, NOVEMBER 2024 

Second Semester 

Commerce 

EMPLOYABILITY SKILLS 

(CBCS – 2023 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. What is Employability? 

 ÷Áø»Áõ´¨¦ GßÓõÀ GßÚ? 

2. What are employability skills? 

 ÷Áø»Áõ´¨¦ vÓßPÒ GßÓõÀ GßÚ? 

3. What is a task skill? 

 £ovÓß GßÓõÀ GßÚ? 

4. List out any two advantages of task management. 

 £o {ºÁõPzvß H÷uÝ® Cμsk |ßøPøÍ £mi¯¼kP. 

5. What is communication skill? 

 öuõhº¦ vÓß GßÓõÀ GßÚ? 

6. What is Problem solving? 

 ]UPø»z wº¨£x GßÓõÀ GßÚ? 
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7. What is Resume writing? 

 öμì³® GÊxÁx GßÓõÀ GßÚ? 

8. How to prepare a good resume? 

 |À» öμì³® u¯õ›¨£x G¨£i? 

9. A is 3 years older to B and 3 years younger to C, while  
B and D are twins. How many years older is C to D? 

 A, B –US 3 Á¯x ‰zuÁº ©ØÖ® C–US 3 Á¯x 
CøÍ¯Áº, B ©ØÖ® D Cμmøh¯ºPÒ, C •uÀ D Áøμ 
GzuøÚ BskPÒ £øÇ¯x? 

10. Look at this series: 2, 1, (1/2), (1/4), ... What number 
should come next. 

 C¢uz öuõhøμ¨ £õ¸[PÒ : 2, 1, (1/2), (1/4),.... Akzx 
GßÚ Gs Áμ ÷Ásk®? 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the types of employability skills? 

   ÷Áø»Áõ´¨¦ vÓßPÎß ÁøPPÒ ¯õøÁ? 

Or 

 (b) What are the roles of soft skills in employability? 

   ÷Áø»Áõ´¨¤À ö©ßø©¯õÚ vÓßPÎß £[S 
GßÚ? 

12. (a) What is embedded employability skills? 

   Emö£õvUP¨£mh ÷Áø»Áõ´¨¦z vÓß GßÓõÀ 
GßÚ? 

Or 

 (b) What are employability skills teamwork?  

   ÷Áø»Áõ´¨¦ vÓß SÊ¨£o GßÓõÀ GßÚ? 
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13. (a) What are the types of communication skills? 

   öuõhº¦ vÓßPÎß ÁøPPÒ ¯õøÁ? 

Or 

 (b) Why is teamwork important in employability? 

   ÷Áø»Áõ´¨¤À SÊ¨£o Hß •UQ¯©õÚx? 

14. (a) What are the purpose of resume writing? 

   öμì³® GÊxÁuß ÷|õUP® GßÚ? 

Or 

 (b) What are the main types of resume writing with 
examples? 

   GkzxUPõmkPÐhß GÊx® Âsn¨zvß •UQ¯ 
ÁøPPÒ ¯õøÁ? 

15. (a) The 30 members of a club decided to play a 
badminton singles tournament. Every time a 
member loses a game he is out of the tournament. 
There are no ties. What is the minimum number of 
matches that must be played to determine the 
winner? 

   J¸ QÍ¨¤ß 30 EÖ¨¤ÚºPÒ ÷£mªshß 
JØøÓ¯º ÷£õmi°À ÂøÍ¯õh •iÄ ö\´uÚº. 
JÆöÁõ¸ •øÓ²® J¸ EÖ¨¤Úº BmhzvÀ 
÷uõØÓõÀ AÁº ÷£õmi°¼¸¢x öÁÎ÷¯ÖQÓõº. 
£¢u[PÒ CÀø», öÁØÔ¯õÍøμz wº©õÛUP 
ÂøÍ¯õh ÷Ási¯ SøÓ¢u£m\ ÷£õmiPÎß 
GsoUøP GßÚ? 

Or 

 (b) Look at this series : 53, 53, 40, 40, 27, 27,... What 
number should come next?  

   C¢uz öuõhøμ¨ £õ¸[PÒ :  53, 53, 40, 40, 27, 27,... 
Akzx GßÚ Gs Áμ ÷Ásk®? 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the essentials of soft skills. 

 ö©ßø©¯õÚ vÓßPÎß Azv¯õÁ]¯[PøÍ ÂÍUSP. 

17. Explain the dimension of competency that requires to 
performing a specific task assigned to a trainee. 

 £°Ø]¯õÍ¸US JxUP¨£mh J¸ SÔ¨¤mh £oø¯a 
ö\´ÁuØSz ÷uøÁ¨£k® vÓÛß £›©õnzøu ÂÍUSP. 

18. Discuss the main role of communication skills in securing 
employment. 

 ÷Áø»Áõ´¨ø£¨ £õxPõ¨£vÀ uPÁÀ öuõhº¦z 
vÓßPÎß •UQ¯ £[øP¨ £ØÔ ÂÁ›. 

19. Explain the features of good resume. 

 |À» öμì³ªß A®\[PøÍ ÂÍUSP. 

20. A tailor had a number of shirt pieces to cut from a roll of 
fabric. He cut each roll of equal length into 10 pieces.  
He cut at the rate of 45 cuts a minute. How many rolls 
would be cut in 24 minutes?  

 J¸ øu¯ÀPõμ›h® J¸ xo _¸ÎÀ C¸¢x öÁmkÁuØS 
£» \møh xskPÒ C¸¢uÚ. AÁº \© }Í•ÒÍ 
JÆöÁõ¸ ÷μõø»²® 10 xskPÍõP öÁmiÚõº. AÁº 
J¸ {ªhzvØS 45 öÁmkUPÒ GßÓ ÂQuzvÀ 
öÁmiÚõº, 24 {ªh[PÎÀ GzuøÚ ÷μõÀPÒ 
öÁmh¨£k®? 

 
———————— 
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B.Com. (CA) DEGREE EXAMINATION, NOVEMBER 2024 

Third Semester 

CORPORATE ACCOUNTING — I 

(CBCS – 2023 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What do you mean by Re-issue of Shares? 
 £[SPÎß ©Ö öÁÎ±k GßÓõÀ GßÚ? 

2. What is Discount of Shares? 
 £[SPÎß uÒÐ£i GßÓõÀ GßÚ? 

3. What is Preference Share? 
 •ßÝ›ø©¨ £[S GßÓõÀ GßÚ? 

4. What is Sinking Fund? 
 ‰ÌS® {v GßÓõÀ GßÚ? 

5. What is Remuneration? 
 Fv¯® GßÓõÀ GßÚ? 

6. What is Depreciation? 
 ÷u´©õÚ® GßÓõÀ GßÚ? 

7. Define Goodwill. 
 |Àö»snzøu Áøμ¯ÖUPÄ®.  

Sub. Code 
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8. What is Net Asset Method? 
 {Pμ ö\õzx •øÓ GßÓõÀ GßÚ? 

9. What is AS-16 Plant and Equipment? 

 AS-16 Bø» ©ØÖ® E£Pμn[PÒ GßÓõÀ GßÚ? 

10. What is Financial Reporting Standard? 
 {v AÔUøP uμ{ø» GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) The S Co. Ltd. issued 40,000 equity shares of Rs. 10 
each and 30,000, 12% preference shares of Rs. 100 
each payable as follow: 

Particulars Equity shares Preference shares

On application 2 20 

On allotment 4 35 

On first and final call 4 45 

  All the shares offered were subscribed for by the 
public and cash was duly received. Pass necessary 
journal entries to record the above issue of shares. 
Gì ÷Põ ¼ªöhm 40,000 DUÂmi £[SPøÍ  
¹. u»õ 10 ©ØÖ® 30,000, 12% Â¸¨£©õÚ £[SPÒ 
¹. 100 JÆöÁõßÖ® ¤ßÁ¸©õÖ ö\¾zu ÷Ásk®. 

ÂÁμ[PÒ DUÂmi £[SPÒ •ßÝ›ø© £[SPÒ

Âsn¨£zvÀ  2 20 
JxURmiÀ  4 35 
•uÀ ©ØÖ® CÖv AøÇ¨¤À 4 45 

ÁÇ[P¨£mh AøÚzx £[SPÐ® ö£õx©UPÍõÀ 
\¢uõ ö\¾zu¨£mk £n® •øÓ¯õP¨ ö£Ó¨£mhx. 
÷©÷» EÒÍ £[SPÎß öÁÎ±møh £vÄ ö\´¯ 
÷uøÁ¯õÚ £zv›øP EÒÏkPøÍ AÝ¨£Ä®.  

Or 
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 (b) N co. Ltd. was registered with an authorized capital 
of Rs. 20,00,000 divided into 20,000 shares of  
Rs. 100 each. The company offered 12,000 shares to 
the pubic which were payable: Rs. 20 per share on 
application, Rs 40 per share on allotment and Rs. 40 
on call. Applications for 18,000 shares were received 
on which the directors allotted as follows: 

  Applicants for 1,000 shares –  full 

  Applicants for 5,000 shares – 2,000 shares 

  Applicants for 3,000 shares –  Nil 

  The excess application money was adjusted towards 
allotment. All the money due on allotment and call 
was fully received. Make the necessary entries in 
the company’s books. 

  Gß ÷Põ. ¼ªöhm A[RP›UP¨£mh ‰»uÚ©õP  
¹. 20,00,000 ¹£õ´ 20,000 £[SPÍõP¨ 
¤›UP¨£mhx. JÆöÁõßÖ® ¹.100. {ÖÁÚ® 
12,000 £[SPøÍ ö£õx ©UPÐUS ÁÇ[Q¯x.   
Âsn¨£zvÀ J¸ £[SUS ¹.20, JxURmiÀ J¸ 
£[SUS ¹. 40 ©ØÖ® AøÇ¨¤À ¹. 40. 18,000 
£[SPÐUPõÚ Âsn¨£[PÒ ö£ØÓ¨£mhÚ, AvÀ 
C¯US|ºPÒ ¤ßÁ¸©õÖ JxURk ö\´uÚº.  

  1,000 £[SPÐUPõÚ Âsn¨£uõμºPÒ & •Ê 

  5,000 £[SPÐUPõÚ Âsn¨£uõμºPÒ & 2,000 
£[SPÒ 

  3,000 £[SPÐUPõÚ Âsn¨£uõμºPÒ & Nil 

  AvP¨£i¯õÚ Âsn¨£¨ £n® JxURmiÀ \› 
ö\´¯¨£mhx. JxURk ©ØÖ® AøÇ¨¤ß «uõÚ 
AøÚzx £n•® •Êø©¯õP ö£Ó¨£mhx. 
{ÖÁÚzvß ¦zuP[PÎÀ ÷uøÁ¯õÚ EÒÏkPøÍ 
ö\´²[PÒ.  
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12. (a) On 30-07-2021, the balance sheet on S Ltd. stood as 
follows: 

Liabilities Rs. Assets Rs. 

Equity share capital 10,00,000 Sundry assets 14,00,000 

Redeemable preference share capital 4,00,000 Bank 5,00,000 

Profit & Loss a/c 3,00,000   

Sundry creditors 2,00,000   

 19,00,000  19,00,000 

  On the above date the preference shares had to be 
redeemed. For this purpose, 2,000 equity shares of 
Rs. 100 each were issued at Rs. 110. The company 
also issued 8 % debentures totaling Rs. 3,00,000. 
The shares and debentures were immediately 
subscribed and pair for. The preference shares were 
duly redeemed. Give journal entries and the balance 
after redemption. 

  30.7.2021 AßÖ, S Ltd. CÀ C¸¨¦{ø» 
¤ßÁ¸©õÖ C¸¢ux.  

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

DUÂmi £[S ‰»uÚ® 10,00,000 £À÷ÁÖ  

«möhkUPUTi¯ •ßÝ›ø©   ö\õzxUPÒ 14,00,000
£[S ‰»uÚ® 4,00,000 Á[Q 5,00,000
»õ£® ©ØÖ® CÇ¨¦ P/S 3,00,000  

£À÷ÁÖ Phß ÁÇ[S£ÁºPÒ 2,00,000  

 19,00,000  19,00,000

  ÷©÷» EÒÍ ÷uv°À •ßÝ›ø©¨ £[SPøÍ 
«möhkUP ÷Ásk®. CuØPõP, 2,000 £[S £[SPÒ 
¹. 100 u»õ ¹. 110. {ÖÁÚ® 8% PhÜmk¨ 
£zvμ[PøÍ²® ö©õzu©õP ¹. 3,00,000. £[SPÒ 
©ØÖ® PhÜmk¨ £zvμ[PÒ EhÚi¯õP \¢uõ 
ö\¾zu¨£mk CønUP¨£mhÚ. •ßÝ›ø©¨ 
£[SPÒ •øÓ¯õP «möhkUP¨£mhÚ. áºÚÀ 
EÒÏkPøÍ²® «m¤ØS¨ ¤ÓS C¸¨¦z 
öuõøPø¯²® öPõk[PÒ.  

Or 
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 (b) EM Ltd. issued 15,000, 14% debentures of Rs. 100 

each for public subscription, at a premium of 10% 

payable as to Rs. 30 on application, Rs. 10 

(including premium) on allotment and the balance 

in one call. 25,000 applications were received. 4,000 

applications were rejected and debentures were 

allotted to the remaining applicants pro-rata. 

Allotment amount was received from all the 

allottees one of whom paid the call amount due on 

his 1,000 debentures along with allotment money. 

The call amount was also collected on the due date. 

You are required to pass necessary journal entries 

in the company books. 

  EM Ltd 15,000, 14% Phß £zvμ[PÒ ö£õxa 

\¢uõÄUS u»õ ¹. 100, 10% ¤Ÿª¯zvÀ  

Âsn£zvÀ ¹. 30, JxURmiÀ ¹.10 (¤Ÿª¯® 

Em£h) ©ØÖ® J¸ AøÇ¨¤À C¸¨¦. 25,000 

Âsn¨£[PÒ ö£Ó¨£mhÚ. 4,000 Âsn¨£[PÒ 

{μõP›UP¨£mhx ©ØÖ® «u•ÒÍ Âsn¨£uõμºPÐUS 

Phß £zvμ[PÒ JxUP¨£mhÚ. AøÚzx 

JxUP¨£mhÁºPÎhª¸¢x® JxURk öuõøP 

ö£Ó¨£mhx, AÁºPÎÀ J¸Áº uÚx 1,000 Phß 

£zvμ[PÐUS ö\¾zu ÷Ási¯ AøÇ¨¦z 

öuõøPø¯ JxURk £nzxhß ö\¾zvÚõº. 

AøÇ¨¦z öuõøP²® E›¯ ÷uv°À Á`¼UP¨£mhx. 

{ÖÁÚzvß ¦zuP[PÎÀ ÷uøÁ¯õÚ £zv›øP 

EÒÏkPøÍ }[PÒ AÝ¨£ ÷Ásk®.  
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13. (a) The authorized capital G Ltd. is Rs. 6,00,000 
consisting of 3,000, 6% preference shares of Rs. 100 
each and 30,000 equity shares of Rs. 10 each. The 
balances appearing in the books on 31-12-2018, 
were as shown below: 

Particulars Rs. Particulars Rs. 

Investment in shares at cost 50,000 Sundry creditors 87,850

Purchases 4,90,500 6% preference  

Packing charges 18,000  share capital  2,00,000

Delivery expenses 35,400 Equity share capital 2,00,000

Stock 01.01.2018 1,45,200 5% mortgage  

Salaries and wages 52,000  debentures secured 

Rent and rates 17,500  on freehold properties 1,50,000

Freight and carriage outward 8,200 Dividend and interest 4,250

Final dividend for 2017 12,000 Profit and loss a/c 28,500

Preference dividend half  Sales (net) 6,70,350

 year to 30.06.2018 6,000 Bank overdraft by  

Discount on issue of debentures 2,000   hypothecation of  

Preliminary expenses 1,000   stocks and receivables 1,50,000

Bills receivable 41,500  

Interest on bank overdraft 7,800  

Debenture interest half year   

  to 30.06.2018 3,750  

Sundry debtors 50,100  

Freehold property at cost 3,50,000  

Furniture at cost less   

  depreciation of Rs. 15,000 35,000  

Taxation advance for 2018 15,000  

Technical know how at cost 1,50,000  

 14,90,950  14,90,950
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  You are required to prepare statement of profit and 
loss for the year ended 31-12-2018 and balance 
sheet as on that date after taking into account the 
following: 

  (i)  Closing stock valued at Rs. 1,42,500. 

  (ii) Purchases includes Rs. 5,000 worth of goods 
and articles for distribution among valued 
customers. 

  (iii) Salaries and wages include Rs. 2,000 being 
wages incurred for installation of electrical 
fittings in the factory. Electrical fittings have 
been recorded under furniture. 

  (iv)  Bills receivable include Rs. 1,500 being 
dishonored bills. 50% of Rs. 1,500 has been 
considered to be irrecoverable. 

  (v)  Bill of Rs. 2,000 maturing after December 
2018 were discounted. 

  (vi)  Charge depreciation at 20% on furniture.  

  (vii) Write off 50% of discount on debentures.  

  (viii)  Dividend at 5% proposed on equity share 
capital.  

  (ix) Provision for taxation Rs. 8,000.  

  (x)  Technical know- how is to be written off over a 
period of 15 years.  

  (xi) Salaries and wages include Rs. 10,000 being 
the directors remuneration.  

  (xii)  Previous years figures not to be maintained.  

  (xiii) Write off preliminary expenses. 
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  A[RP›UP¨£mh ‰»uÚ® â ¼ªöhm ¹. 6,00,000, 
3,000, 6% Â¸¨£©õÚ £[SPÒ  u»õ ¹. 100 ©ØÖ® 
30,000 DUÂmi £[SPÒ JÆöÁõßÖ® ¹. 10. 
31.12.2018  AßÖ ¦zuP[PÎÀ Põn¨£mh 
{¾øÁPÒ R÷Ç Põmh¨£mkÒÍÚ.  

ÂÁμ[PÒ ¹. ÂÁμ[PÒ ¹. 

ö\»ÂÀ £[SPÎÀ •u½k 50,000 £À÷ÁÖ Phß ÁÇ[S£ÁºPÒ 87,850

öPõÒ•uÀ 4,90,500 6% •ßÝ›ø©  

÷£UQ[ Pmhn® 18,000   £[S ‰»uÚ® 2,00,000

Â{÷¯õP ö\»ÄPÒ 35,400 DUÂmi £[S ‰»uÚ® 2,00,000

£[S 01.01.2018 1,45,200 5% Ah©õÚU Phß 

\®£Í® ©ØÖ® Fv¯® 52,000   £zvμ[PÒ L¨Ÿ÷íõÀk  

ÁõhøP ©ØÖ® Pmhn[PÒ 17,500   ö\õzxUPÎÀ  

\μUS ©ØÖ® öÁÎ÷¯ Ási 8,200   £õxPõUP¨£mkÒÍÚ 1,50,000

CÖv DÄzöuõøP 2017 12,000 DÄzöuõøP ©ØÖ® Ámi 4,250

•ßÝ›ø© DÄzöuõøP  »õ£® ©ØÖ® CÇ¨¦ P/S 28,500

  Aøμ Á¸hzvØS 30.06.2018 6,000 ÂØ£øÚ ({Pμ®) 6,70,350

Phß £zvμ[PÎß   £[SPÒ ©ØÖ®  

  öÁÎ±miÀ uÒÐ£i 2,000   ö£ÓzuUPøÁPÎß 

Bμ®£ ö\»ÄPÒ 1,000   AÝ©õÚzvß ‰»®  

ö£ÓzuUP ¤ÀPÒ 41,500   Á[Q KÁº iμõL¨m 1,50,000

Á[Q KÁº iμõL¨m «uõÚ Ámi 7,800  

PhÜmk Ámi Aøμ    

  Á¸h® Áøμ  30.06.2018 3,750  

£À÷ÁÖ PhÚõÎPÒ 50,100  

ö\»ÂÀ C»Á\ ö\õzx 3,50,000  

  SøÓ¢u Âø»°À    

  ©μa\õ©õßPÒ ¹. 15,000 35,000  

Á› •ß£n® 2018 15,000  

öhUÛUPÀ G¨£i ö\»ÁõS®    

GßÖ öu›²® 1,50,000  

 14,90,950  14,90,950



S–4580 

  

  9

  31.12.2018 CÀ •iÁøh¢u BsiØPõÚ »õ£® 
©ØÖ® |èh AÔUøPø¯²®, ¤ßÁ¸ÁÚÁØøÓU 
P¸zvÀ öPõsk A¢u ÷uv°À C¸¨¦{ø»U 
SÔ¨ø£²® }[PÒ u¯õ›UP ÷Ásk®.  

  (i) £[S ©v¨¦ ¹. 1,42,500 

  (ii) öPõÒ•u¼À ¹.5,000 ©v¨¦ÒÍ ö£õ¸mPÒ 
©ØÖ® ö£õ¸mPÒ ©v¨¦ªUP 
ÁõiUøP¯õÍºPÎøh÷¯ Â{÷¯õQUP¨£k®.  

  (iii) \®£Í® ©ØÖ® Fv¯® ¹. 2,000 
öuõÈØ\õø»°À ªß ö£õ¸zxuÀPÒ 
{ÖÁ¨£mh Fv¯® ©μa\õ©õßPÒ RÌ ªß 
ö£õ¸zxuÀPÒ £vÄ ö\´¯¨£mkÒÍÚ.  

  (iv) ö£ÓzuUP ¤ÀPÎÀ ¹. 1,500 ©v¨¤Ç¢u 
¤ÀPÒ 50% ¹. 1,500 v¸®£¨ ö£Ó 
•i¯õuuõPU P¸u¨£kQÓx.   

  (v) ¤À i\®£º 2018US¨ ¤ÓS •vºa]¯øh²® 
¹. 2,000 uÒÐ£i ö\´¯¨£mhx.  

  (vi) ©μa\õ©õßPÒ «x 20% ÷u´©õÚ®  

  (vii) Phß £zvμ[PÒ «uõÚ uÒÐ£i°À 50% 
uÒÐ£i ö\´¯Ä®.  

  (viii) DUÂmi £[S ‰»uÚzvÀ •ßö©õÈ¯¨£mh 
5% DÄzöuõøP  

  (ix) Á›Âv¨¦UPõÚ JxURk ¹. 8,000 

  (x) öuõÈÀ~m£ AÔÄ 15 Á¸h Põ»zvØSÒ 
G¨£i GÊu¨£h ÷Ásk®.  

  (xi) \®£Í® ©ØÖ® Fv¯® ¹. 10,000 
C¯USÚºPÎß \®£Í®  

  (xii) •¢øu¯ BskPÎß ¦ÒÎ ÂÁμ[PÒ 
£μõ©›UP¨£hUThõx.  

  (xiii) §ºÁõ[P ö\»ÄPøÍ GÊv øÁUPÄ®.  

Or 

 (b) Explain about the remenuration payable by 
companies having no profits.  

  »õ£® CÀ»õu {ÖÁÚ[PÒ ö\¾zu ÷Ási¯ 
Fv¯® £ØÔ ÂÍUPÄ®.  
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14.  (a) A firm earned net profits during the last three years 
as follows: 

Particulars Rs. 

I Year 36,000

II Year 40,000

III Year 44,000

  The capital investment of the firm is Rs. 1,00,000. A 
fair return on the capital, having regard to the risk 
involved is 10%. Calculate the value of goodwill on 
the basis of 3 years purchase of super profit. 

  J¸ {ÖÁÚ® Ph¢u ‰ßÖ BskPÎÀ {Pμ »õ£® 
Dmi¯x ¤ßÁ¸©õÖ.  

ÂÁμ[PÒ ¹. 

I Bsk 36,000

II Bsk 40,000

III Bsk 44,000

  {ÖÁÚzvß ‰»uÚ •u½k ¹. 1,00,000, 
‰»uÚzvß «uõÚ {¯õ¯©õÚ Á¸©õÚ®, CvÀ 
EÒÍ A£õ¯zøu¨ ö£õÖzuÁøμ 10% BS®. `¨£º 
»õ£zvß 3 Á¸h öPõÒ•uÀ Ai¨£øh°À 
|Àö»snzvß ©v¨ø£U PnUQk[PÒ.  

Or 

 (b) From the following information calculate the value 
per equity share: 

Particulars Rs. 

5,000, 8% preference shares of  
Rs. 100 each 

5,00,000

75,000 equity shares of Rs. 10 each,  
Rs. 8 per share paid up 6,00,000

Expected profits per year before tax 2,80,000

Rate of tax 50%

Transfer to general reserve every year 20% of the profit 10%

Normal rate of earnings 10%
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  ¤ßÁ¸® uPÁ¼¼¸¢x J¸ £[S ©v¨ø£¨ £ØÔU 
PnUQk[PÒ.  

ÂÁμ[PÒ ¹. 

5000, 8% •ßÚ›ø©¨ £[SPÒ ¹. 100 5,00,000

75,000 DUÂmi £[SPÒ u»õ ¹. 10 J¸ 
£[SUS 8 ö\¾zu¨£mhx 6,00,000

Á›US •ß BskUS Gvº£õºUP¨£k® 
»õ£® 

2,80,000

Á› ÂQu® 50%

JÆöÁõ¸ Bsk® öáÚμõ C¸¨¦US 
©õØÓÄ® 

20% of the profit 10%

\õuõμn Á¸Áõ´ ÂQu® 10%

15. (a)  Explain the Advantages of Accounting Standards. 

  PnUQ¯À uμ{ø»PÎß |ßø©PøÍ ÂÍUSP. 

Or 

 (b) Explain about the Types of Accounting Standards. 

  PnUQ¯À uμ{ø»PÎß ÁøPPÒ £ØÔ ÂÍUPÄ®.  

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. A Ltd issued 2,000 shares of Rs. 100 each at a premium of 
10% payable as follows: 

 Rs. 25 on application, Rs. 35 on allotment (including 
premium), Rs. 20 on first call, Rs. 30 on final call, 1,800 
shares were applied for and allotted. All the money was 
received with the exception of first and final calls on 200 
shares held by R. These shares were forfeited. Give 
journal entries and prepare balance sheet. 
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 H ¼ªöhm 2,000 £[SPøÍ ¹. 100 JÆöÁõßÖ® 10% 
¤Ÿª¯zvÀ ¤ßÁ¸©õÖ ö\¾zu ÷Ásk® : 
Âsn¨£zvÀ ¹. 25, ¹. 35 JxURmiÀ (¤Ÿª¯® Em£h), 
•uÀ AøÇ¨¤À ¹. 20, ¹. 30 CÖv AøÇ¨¤À, 1,800 
£[SPÒ Âsn¨¤zx JxUP¨£mhÚ. Bº øÁzv¸¢u 
200 £[SPÎÀ •uÀ ©ØÖ® CÖv AøÇ¨¦PÒ uÂμ 
AøÚzx¨ £n•® ö£Ó¨£mhx. C¢u¨ £[SPÒ £Ô•uÀ 
ö\´¯¨£mhÚ. £zv›UøP EÒÏkPøÍ öPõkzx 
C¸¨¦{ø»U SÔ¨ø£z u¯õ›UPÄ®.  

17. The following is the balance sheet of HS Ltd., as on 
30.6.2020. 

Liabilities Rs. Assets Rs. 

Share capital :  Fixed assets 10,00,000

30,000 6% redeemable preference  Investments 2,10,000

shares of Rs. 10 each fully paid 3,00,000 Current assets : 

60,000 equity shares of Rs. 10  Stock 4,40,000

each fully paid 6,00,000 Sundry debtors 1,60,000

Securities premium a/c 2,90,000 Cash at bank 2,20,000

General reserve 4,00,000  

Profit and loss a/c 2,45,000  

Sundry creditors 1,95,000  

 20,30,000  20,30,000

 The company exercised its option to redeem, on  
01-07-2020, the whole of the preference shares at a 
premium of 5%. To assist in financing the redemption, all 
the investments were sold, realizing Rs. 1,95,000. On  
01-09-2020, the company made a bonus issue of seven 
equity share fully paid for every six equity shares held on 
that date. The appropriate resolutions were passed and 
the above transactions were duly completed. You are 
required to show the journal entries and the balance 
sheet of the company as it would appear after completion 
of the transactions.  
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 30.6.2020 AßÖ EÒÍ HS Ltd. Cß C¸¨¦{ø» 

¤ßÁ¸©õÖ.  
ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

£[S ‰»uÚ® :  {ø»¯õÚ ö\õzxUPÒ 10,00,000 

30,000 6% ›j® ö\´¯UTi¯  •u½kPÒ 2,10,000 

Â¸¨£©õÚ £[SPÒ   uØ÷£õøu¯ ö\õzxUPÒ :  

JÆöÁõßÖ® ¹. 10   £[S 4,40,000 

•Êø©¯õP ö\¾zu¨£mhx 3,00,000 £À÷ÁÖ PhÚõÎPÒ 1,60,000 

60,000 DUÂmi £[SPÒ  Á[Q°À £n® 2,20,000 

JÆöÁõßÖ® ¹. 10     

•Êø©¯õP ö\¾zu¨£mhx 6,00,000   

£zvμ[PÎß ¤Ÿª¯® H/] 2,90,000   

ö£õx C¸¨¦ 4,00,000   

»õ£® ©ØÖ® CÇ¨¦ P/S 2,45,000   

£À÷ÁÖ Phß ÁÇ[S£ÁºPÒ 1,95,000   

 20,30,000  20,30,000 

 {ÖÁÚ® 01.07.2020 AßÖ •Ê Â¸¨£¨ £[SPøÍ²® 

5% ¤›«¯zvÀ «möhk¨£uØPõÚ uÚx Â¸¨£zøu¨ 

£¯ß£kzv¯x. «m¤ØS {v¯Î¨£vÀ EuÁ, AøÚzx 

•u½kPÐ® ÂØP¨£mhÚ ¹. 1,95,000. 01.09.2020 

AßÖ, A¢u ÷uv°À øÁzv¸US® JÆöÁõ¸ BÖ 

DUÂmi £[SPÐUS® •Êø©¯õP ö\¾zu¨£mh HÊ 

DUÂmi £[SPøÍ ÷£õÚì öÁÎ°mhx. E›¯ 

wº©õÚ[PÒ {øÓ÷ÁØÓ¨£mk, ÷©ØPsh £›ÁºzuøÚPÒ 

•øÓ¯õP •iUP¨£mhÚ. £›ÁºzuøÚPÒ •i¢ux®, 

{ÖÁÚzvß áºÚÀ EÒÏkPÒ ©ØÖ® C¸¨¦{ø»U 

SÔ¨ø£ }[PÒ Põmh ÷Ásk®.  
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18. A ltd. was registered with an authorized capital of  
Rs. 6,00,000 in equity shares of Rs. 10 each. The following 
is its trial balance on 31-03-2018. 

Trial balance of A Ltd. 

Particulars Debit balance 
Rs. 

Credit balance 
Rs. 

Goodwill 25,000 -

Cash 750 -

Bank 39,900 -

Purchases 1,85,000 -

Preliminary expenses 5,000 -

Share capital - 4,00,000

12% Debentures - 3,00,000

Profit and Loss A/c (cr) - 26,250

Calls in arrears 7,500 -

Premises 3,00,000 -

Plant and Machinery 3,30,000 -

Interim Dividend 39,250 -

Sales - 4,15,000

Stock on (01.04.2017) 75,000 -

Furniture and fixtures 7,200 -

Sundry debtors 87,000 -

Wages 84,865 -

General expenses 6,835 -

Freight and carriage 13,115 -

Salaries 14,500 -

Directors fees 5,725 -
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Particulars Debit balance 
Rs. 

Credit balance 
Rs. 

Bad debts 2,110 -

Debenture interest paid 18,000 -

Bills payable - 37,000

Sundry creditors - 40,000

General Reserves - 25,000

Provision for Bad debts - 3,500

 12,46,750 12,46,750

 Prepare statement of profit and loss and balance sheet in 
proper form after making the following  adjustments. 

 (a) Depreciate plant and machinery by 15%. 

 (b) Write off preliminary expenses. 

 (c) Provide for 6 months interest on debentures. 

 (d) Leave bad and doubtful debts provision at 5% on 
sundry debtors. 

 (e) Provide for income tax at 50%. 

 (f) Stock on 31-03-2018 was Rs. 95,000. 

 J¸ ¼ªöhm A[RP›UP¨£mh ‰»uÚ® ¹. 6,00,000 
£[SPÎÀ JÆöÁõßÖ® ¹. 10. 31.03.2018 AßÖ Auß 
C¸¨¦z öuõøP ¤ßÁ¸©õÖ H ¼ªöhmiß £õøu C¸¨¦  

 H ¼ªöhmiß £õøu C¸¨¦ 
ÂÁμ[PÒ £ØÖ C¸¨¦

¹. 
Phß C¸¨¦ 

¹. 

|Àö»sn®  25,000 -
£n® 750 -
Á[Q 39,900 -
öPõÒ•uÀ 1,85,000 -
Bμ®£ ö\»ÄPÒ 5,000 -
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ÂÁμ[PÒ £ØÖ C¸¨¦
¹. 

Phß C¸¨¦ 
¹. 

£[S •»uÚ® - 4,00,000

12% Phß £zvμ[PÒ - 3,00,000

»õ£® ©ØÖ® CÇ¨¦ a/c (Cr) - 26,250

{¾øÁ°À EÒÍ AøÇ¨¦PÒ 7,500 -

ÁÍõP® 3,00,000 -

Bø» ©ØÖ® C¯¢vμ[PÒ 3,30,000 -

CøhUPõ» DÄzöuõøP 39,250 -

ÂØ£øÚ - 4,15,000

£[S (01.04.2017) 75,000 -

uÍÁõh[PÒ ©ØÖ® \õuÚ[PÒ 7,200 -

£À÷ÁÖ PhÚõÎPÒ 87,000 -

T¼PÒ 84,865 -

ö£õx ö\»ÄPÒ 6,835 -

\μUS ©ØÖ® Ási 13,115 -

\®£Í® 14,500 -

C¯US|ºPÒ Pmhn® 5,725 -

÷©õ\©õÚ PhßPÒ 2,110 -

PhÜmk Ámi ö\¾zu¨£mhx 18,000 -

ö\¾zu ÷Ási¯ ¤ÀPÒ - 37,000

£À÷ÁÖ Phß ÁÇ[S£ÁºPÒ - 40,000

ö£õx C¸¨¦ - 25,000

÷©õ\©õÚ PhßPÐUPõÚ JxURk - 3,500

 12,46,750 12,46,750
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 ¤ßÁ¸® ©õØÓ[PøÍa ö\´u ¤ÓS \›¯õÚ ÁiÁzvÀ 
»õ£® ©ØÖ® CÇ¨¦ AÔUøP ©ØÖ® C¸¨¦{ø» 
AÔUøPø¯z u¯õ›UPÄ®.  

 (A) Bø» ©ØÖ® C¯¢vμ[PÎß ©v¨ø£ 15% 
SøÓUPÄ®.  

 (B) §ºÁõ[P ö\»ÄPøÍ GÊvøÁUPÄ® 

 (C) Phß £zvμ[PÐUS 6 ©õu Ámi ÁÇ[PÄ® 

 (D) £À÷ÁÖ PhÚõÎPÐUS ÷©õ\©õÚ ©ØÖ® 
\¢÷uPzvØS›¯ PhßPøÍ 5% CÀ Âk[PÒ 

 (E) 50% Á¸©õÚ Á› ÁÇ[PÄ® 

 (F) 31.3.2018 AßÖ £[S ¹. 95,000. 

19. Mr. BS wants to buy 1,000 equity shares of R. Co. Ltd., 
form JS. It is agreed between the parties that Mr. BS will 
pay the price of equity shares of the company at the rate 
which is the mean of its value calculated on  

 (a) Assets backing method and  

 (b) Yield method. 

 The summarized balance sheet of the company as at 
31.12.2018 is an under : 

Liabilities Rs. Assets Rs. 

Share capital :  Goodwill 50,000

3,000 equity shares of Rs. 100 each 3,00,000 Fixed assets 8,00,000

1,500, 10% preference shares   Investments 2,00,000

 of Rs. 100 each 1,50,000 Current assets :

General reserve 6,00,000 Loans and  

6% debentures 1,00,000  advances 5,50,000

Profit and loss a/c 20,000  

Fixed deposits 1,00,000  

Current liabilities and provisions 3,30,000  

 16,00,000  16,00,000
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  The market value of assets on 31.12.2018 was 

  (i) Goodwill Rs. 1,00,000 

  (ii) Fixed assts Rs. 11,80,000 

  (iii) Investments Rs. 1,50,000 

  (iv)  Book debts included Rs. 1,00,000 which were 

considered irrecoverable.  

   The figures of net profits (after taxation) for 

the past 5 years were: 

   2014 – Rs. 2,20,000,  

   2015 – Rs. 2,40,000,  

   2016 – Rs. 2,50,000, 

   2017 – Rs. 2,60,000,  

   2018 – Rs. 2,80,000. 

   The company transfers 40% of its net profit 

every year to general reserve and distributed 

the balance of profit by way dividend on its 

shares. This procedure is considered as 

reasonable in view of the provisions for 

compulsory distribution of dividends under the 

income tax act. Mr. BS has stipulated that he 

would consider 15% as a fair return on 

investment in this types of business. On the 

above basis you are required to determine the 

price which Mr. BS should pay to JS for the 

transfer of 1,000 equity shares of the above 

company. 
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 Mr. BS R Co., Ltd. Cß 1,000 DUÂmi £[SPøÍ JS 
ÁiÁzvÀ Áõ[P Â¸®¦QÓx.  

 (A) ö\õzxPÒ&BuμÄ •øÓ ©ØÖ®  

 (B) ©P`À •øÓ BQ¯ÁØÔÀ PnUQh¨£mh Auß 

©v¨¤ß \μõ\›¯õÚ ÂQuzvÀ, Mr. BS {ÖÁÚzvß 
DUÂmi £[SPÎß Âø»ø¯ ö\¾zu ÷Ásk® 
GßÖ Pm]PÐUS Cøh÷¯ J¨¦U öPõÒÍ¨£mhx. 
31.12.2018 ÷uv°ß£i {ÖÁÚzvß _¸UP©õÚ 
C¸¨¦{ø»U RÌ.  

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

£[S ‰»uÚ® :  |Àö»sn® 50,000

3,000 DUÂmi £[SPÒ   {ø»¯õÚ  

JÆöÁõßÖ® ¹.100 3,00,000  ö\õzxUPÒ 8,00,000

1,500, 10% •ßÝ›ø©¨  1,50,000 •u½kPÒ 2,00,000

£[SPÒ JÆöÁõßÖ® ¹. 100  uØ÷£õøu¯ 

ö£õx C¸¨¦ 6,00,000  ö\õzxPÒ : 

6% Phß £zvμ[PÒ 1,00,000  

»õ£® ©ØÖ® CÇ¨¦ P/S 20,000 PhßPÒ ©ØÖ®

{ø»¯õÚ øÁ¨¦ 1,00,000 •ß£n[PÒ 5,50,000

uØ÷£õøu¯ ö£õÖ¨¦PÒ  

©ØÖ® HØ£õkPÒ 
 

3,30,000 

 

 16,00,000  16,00,000

  31.12.2018 AßÖ ö\õzxPÎß \¢øu ©v¨¦  

  (i) |Àö»sn® ¹.1,00,000 

  (ii) {ø»¯õÚ ö\õzxUPÒ ¹. 11,80,000 

  (iii) •u½kPÒ ¹. 1,50,000 

  (iv) ¦zuPU PhßPÒ ¹. 1,00,000 v¸®£¨ ö£Ó 

•i¯õuuõPU P¸u¨£mhx.  
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   Ph¢u 5 BskPÎÀ {Pμ »õ£® 

(Á›Âv¨¦US¨ ¤ÓS) ¦ÒÎ ÂÁμ[PÒ   

   2014 – ¹. 2,20,000,  

   2015 – ¹. 2,40,000,  

   2016 – ¹. 2,50,000, 

   2017 – ¹. 2,60,000,  

   2018 – ¹. 2,80,000. 

   {ÖÁÚ® JÆöÁõ¸ Bsk® Auß {Pμ 

»õ£zvÀ 40% ö£õx C¸¨¦US ©õØÖQÓx 

©ØÖ® Auß £[SPÎÀ DÄzöuõøP ‰»® 

»õ£zvß \©{ø»ø¯ Â{÷¯õQUQÓx. 

Á¸©õÚ Á›a \mhzvß RÌ iÂöhskPøÍ 

Pmhõ¯©õP Â{÷¯õQ¨£uØPõÚ ÂvPÎß 

£õºøÁ°À C¢u |øh•øÓ {¯õ¯©õÚuõPU 

P¸u¨£kQÓx. v¸.¤.Gì., C¢u ÁøP¯õÚ 

ÁoPzvÀ •u½miß «x 15% {¯õ¯©õÚ 

Á¸©õÚ©õP P¸xÁuõP {£¢uøÚ 

ÂvzxÒÍõº. ÷©ØTÔ¯ {ÖÁÚzvß 1,000 

DUÂmi £[SPøÍ ©õØÖÁuØS JSUS v¸. BS 
ö\¾zu ÷Ási¯ Âø»ø¯ }[PÒ wº©õÛUP 

÷Ásk®.   

20. Describe about the list of Indian accounting standards  

(1 to 28). 

 C¢v¯ PnUQ¯À uμ{ø»PÎß £mi¯À (1 to 28) £ØÔ 

ÂÁ›UPÄ®.  

———————— 
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COMPANY LAW 

(CBCS – 2023 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define Company. 

 ‘P®ö£Û’ Gß£øu Áøμ¯ÖUPÄ®. 

2. What is statutory Companies? 

 \mhŸv¯õÚ {ÖÁÚ[PÒ GßÓõÀ GßÚ? 

3. Who is Promoter? 

 FUSÂ¨£Áº ¯õº? 

4. What are the steps to formation of company? 

 {ÖÁÚzøu E¸ÁõUSÁuØPõÚ £iPÒ GßÚ? 

5. What is Meeting? 

 \¢v¨¦ GßÓõÀ GßÚ? 

6. What is Quorum? 

 ÷Põμ® GßÓõÀ GßÚ? 

7. Who is deemed director? 

 C¯US|º GßÖ P¸u¨£k£Áº ¯õº? 

Sub. Code 
23BCO3C2 
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8. What is one person company? 

 J¸ |£º {ÖÁÚ® GßÓõÀ GßÚ? 

9. What is “Voluntary Winding up”? 

 “ußÚõºÁ øÁsi[ A¨” GßÓõÀ GßÚ? 

10. What are the types of Voluntary Winding up? 

 öÁõ»sh› øÁsi[ A¨ ÁøPPÒ ¯õøÁ? 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the significance of Company. 
   {ÖÁÚzvß •UQ¯zxÁzøu ÂÍUPÄ®. 

Or 

 (b) Briefly explain the “Lifting or piercing the corporate 
veil.” 

   _¸UP©õP ÂÍUPÄ® “Põº¨£÷μm •UPõk yUSuÀ 
xøÍzuÀ”. 

12. (a) What are the rights of Promoter? 
   ÂÍ®£μuõμ›ß E›ø©PÒ GßÚ? 

Or 

 (b) What are the types of dividend?  
   DÄzöuõøP°ß ÁøPPÒ ¯õøÁ? 

13. (a) Explain the “types of Resolution”. 
   wº©õÚ[PÎß ÁøPPøÍ ÂÍUSP. 

Or 

 (b) What are the advantages of meeting? 
   \¢v¨¤ß |ßø©PÒ GßÚ? 
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14. (a) Explain the types of Directors. 

   C¯USÚºPÎß ÁøPPøÍ ÂÍUSP. 

Or 

 (b) Explain the “director identification number”. 

   “C¯USÚº Aøh¯õÍ Gsøn” ÂÍUPÄ® 

15. (a) Briefly explain the “general powers of the tribunal”. 

   “wº¨£õ¯zvß ö£õx AvPõμ[PøÍ” _¸UP©õP 
ÂÍUS[PÒ. 

Or 

 (b) What are the powers of Company Liquidator. 

   P®ö£Û ¼UÂ÷hmh›ß AvPõμ[PÒ GßÚ? 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. What are the classification of Companies? 

 {ÖÁÚ[PÎß ÁøP¨£õk GßÚ? 

17. Explain the difference between” debentures and “Shares”. 

 “Phß £zvμ[PÐUS®”, “£[SPÐUS®” EÒÍ 

÷ÁÖ£õmøh ÂÍUSP. 

18. What are the qualifications and disqualifications of an 

auditor? 

 uoUøP¯õÍ›ß uSvPÒ ©ØÖ® uSv°ßø©PÒ GßÚ? 
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19. Explain the “ features of Formation of one person 
Company”. 

 “J¸ |£º {ÖÁÚzvß E¸ÁõUPzvß A®\[PøÍ” 
ÂÍUPÄ®. 

20. Explain the “Consequences of Winding up Company”.  

 “{ÖÁÚzøu •ØÖøP°mhuß ÂøÍÄPÒ” Gß£øu 
ÂÍUS[PÒ. 

 

 

 
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is a Leader? 

 uø»Áº GßÓõÀ GßÚ? 

2. What do you mean by Effective Leader? 

 vÓø©¯õÚ uø»Áº GßÓõÀ GßÚ? 

3. What is Leadership Style? 

 uø»ø©zxÁ |øh GßÓõÀ GßÚ? 

4. What is an Attitude? 

 AqS•øÓ GßÓõÀ GßÚ? 

5. What is Transformational Leadership? 

 ©õØÖz uø»ø© GßÓõÀ GßÚ? 

6. What is Transactional Leadership? 

 £›ÁºzuøÚ uø»ø© GßÓõÀ GßÚ? 

Sub. Code 
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7. What is Effective Work? 

 £¯ÝÒÍ ÷Áø» GßÓõÀ GßÚ? 

8. Define Team Work. 

 SÊ¨£oø¯ Áøμ¯ÖUPÄ®. 

9. How to Develop the Team? 

 Aoø¯ GÆÁõÖ ÁÍº¨£x? 

10. What is Group Work? 

 SÊ ÷Áø» GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the Nature of Leadership. 

  uø»ø©zxÁzvß ußø©ø¯ ÂÍUSP. 

Or 

 (b) Explain the traits of Leadership. 

  uø»ø©zxÁzvß £s¦PøÍ ÂÍUPÄ®. 

12. (a) Write Short notes about the Leadership Skills. 

  uø»ø©zxÁ vÓßPÒ £ØÔ ]Ö SÔ¨¦PøÍ 

GÊuÄ®. 

Or 

 (b) Discuss about the Role of Leadership in Business. 

  ÁoPzvÀ uø»ø©zxÁzvß £[S £ØÔ 
ÂÁõvUPÄ®. 
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13. (a) Enumerate about the Strength of Leadership Skills. 

  uø»ø©zxÁz vÓßPÎß Á¼ø©ø¯¨ £ØÔU 
SÔ¨¤hÄ®. 

Or 

 (b) Explain the Demerits of Leadership Skills. 

  uø»ø©zxÁ vÓßPÎß SøÓ£õkPøÍ ÂÍUPÄ®. 

14. (a) Explain the Objectives of Team Work. 

  SÊ¨£o°ß ÷|õUP[PøÍ ÂÍUSP. 

Or 

 (b) List out the Importance of Team Development. 

  SÊ ÁÍºa]°ß •UQ¯zxÁzøu £mi¯¼k[PÒ. 

15.  (a) Explain the Exploring of Group Development. 

  SÊ ÷©®£õmiß B´Ä £ØÔ ÂÍUPÄ®. 

Or 

 (b) Discuss about the Developing Teams for Work. 

  £oUPõÚ SÊUPøÍ E¸ÁõUSÁx £ØÔ 
ÂÁõvUPÄ®. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Describe the Various Theories of Leadership. 

 uø»ø©zxÁzvß £À÷ÁÖ ÷Põm£õkPøÍ ÂÁ›UPÄ®. 

17. Discuss about the different Styles of Leadership. 

 uø»ø©zxÁzvß öÁÆ÷ÁÖ £õoPøÍ¨ £ØÔ 
ÂÁõvUPÄ®. 

18. Differentiate between Transactional and 
Transformational in Leadership. 

 uø»ø©zxÁzvÀ £›ÁºzuøÚ ©ØÖ® ©õØÓzøu 
÷ÁÖ£kzx[PÒ. 
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19. Enumerate about the Effectiveness of Working in Group 
and Team Work. 

 SÊ ©ØÖ® SÊ¨£o°À £o¦›Áuß ö\¯ÀvÓøÚ¨ 
£ØÔ PnUQhÄ®. 

20. Elaborate about the Roles of Team Work. 

 SÊ¨£o°ß £õzvμ[PøÍ¨ £ØÔ Â›ÁõPU TÖ[PÒ. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. What do you know about system? 

 Aø©¨¦ £ØÔ E[PÐUS GßÚ öu›²®? 

2. What is captured data? 

 øP¨£ØÓ¨£mh uμÄ GßÓõÀ GßÚ? 

3. What is system enhancement? 

 Aø©¨¦ ÷©®£õk GßÓõÀ GßÚ? 

4. What is expert systems? 

 {¦nº Aø©¨¦PÒ GßÓõÀ GßÚ? 

5. Define Transaction Processing System. 

 {¦nº Aø©¨¦PÒ GßÓõÀ GßÚ? 

6. Expand EIS. 

 EIS Â›ÁõUSP. 

7. What is data base? 

 uμÄzuÍ® GßÓõÀ GßÚ? 
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8. What is data integrity? 

uμÄ J¸ø©¨£õk GßÓõÀ GßÚ? 

9. Expand BPO. 

 BPO øÁ Â›ÁõUS[PÒ. 

10. Write any two functional areas of MIS. 

 ÷©»õsø© uPÁÀ Aø©¨¦UPõÚ H÷uÝ® Cμsk 
ö\¯À£õmk £SvPøÍ GÊuÄ®.  

 Part B  (5 × 5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) State the need of MIS. 

  MIS Cß ÷uøÁø¯U SÔ¨¤hÄ®. 

Or 

 (b) What are the Prerequisites of an Effective MIS? 

  J¸ £¯ÝÒÍ MIS Cß •ß{£¢uøÚPÒ GßÚ? 

12. (a) Discuss the various elements of system.  

  Aø©¨¤ß £À÷ÁÖ TÖPøÍ¨ £ØÔ ÂÁõvUPÄ®. 

Or 

 (b) Write a short note on the testing the system. 

  Aø©¨¤øÚ ÷\õv¨£x £ØÔ J¸ ]Ö SÔ¨ø£ 
GÊuÄ®. 

13. (a) Mention the perquisites for the Transactions 
Processing Qualifiers. 

  £›ÁºzuøÚPÒ ö\¯»õUPz uSvPÐUPõÚ 
÷uøÁPøÍU SÔ¨¤hÄ®. 

Or 
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 (b) Write about real time processing with its merits and 
demerits. 

  {PÌ÷|μ ö\¯»õUPzøu¨ £ØÔ Auß uSvPÒ ©ØÖ® 
SøÓ£õkPÐhß GÊuÄ®. 

14. (a) Differentiate database system with file system. 

  ÷Põ¨¦ •øÓø©²hß uμÄzuÍ Aø©¨ø£ 
÷ÁÖ£kzx[PÒ. 

Or 

 (b) What are the advantages of database? 

  uμÄzuÍzvß |ßø©PÒ GßÚ? 

15.  (a) What are the objectives of production management 
function? 

  EØ£zv ÷©»õsø© ö\¯À£õmiß ÷|õUP[PÒ 
GßÚ? 

Or 

 (b) What are the functions of the Human Resource 
Information system? 

  ©Ûu ÁÍ uPÁÀ Aø©¨¤ß ö\¯À£õkPÒ GßÚ? 

 Part C  (3 × 10 = 30) 

Answer any three the questions. 

16. Elaborate the features of Management Information 
system. 

 ÷©»õsø© uPÁÀ Aø©¨¤ß A®\[PøÍ ÂÁ›UPÄ®. 

17. Outline the MIS - System Development Life Cycle in 
detail. 

 MIS Aø©¨¤ß ÁÍºa] ÁõÌUøP _ÇØ]ø¯ Â›ÁõP 
÷PõimkU Põmk[PÒ. 
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18. Write a detailed note on the Executive Information 
system. 

 {ºÁõP uPÁÀ Aø©¨¦ £ØÔ¯ Â›ÁõÚ SÔ¨ø£ 
GÊuÄ®. 

19. How do you design of complex data structures for the 
representation of data in the database? 

 uμÄUuÍzvÀ uμøÁ¨ ¤μv{vzxÁ¨£kzxÁuØPõP 
]UP»õÚ uμÄ Pmhø©¨¦PøÍ GÆÁõÖ 
ÁiÁø©UQÕºPÒ? 

20. Discuss the various risks involved in Business Process 
Outsourcing. 

 ÁoPa ö\¯»õUP A¯»õUPzvÀ EÒÍ £À÷ÁÖ 
B£zxUPøÍ £ØÔ ÂÁõvUPÄ®. 

———————— 


